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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. Which shortcut is used for double underline?

S by LS S 14

(A) Ctrl+Shift+D (B) Ctrl+[ (C) Ctrl+shift+M (D) Shift+F3
2. Which of the following is used to set space between lines of paragraph? :,;_J/qfu:‘:ic)yuﬁ;ﬁﬁgf_irﬁ,& 2
(A) Before space (B) Before indent (C) Line spacing . (D) After spacing
3. Document name appears on: | o T :.'E-_t'ﬁ,qLFrtb’-.uﬂff.# 3
(A) Status bar AU (B) Titlebar- At (C) Menubar i (D) Standard bar b
4. Algorithm is a: :...Q.;_-,ﬁ;m 4
(A) Document about specification w3t ALEA (B) Design document wsadTiefiys
(C) Testdocument woaf 13 (D) Userguide 7€y
5. A memory location with some data that can not be changed J_f@lmi%ﬂ/i;@f J ijﬁugﬂd;yfdi 5
during program execution is called: - bﬂﬁfﬁ.ﬁ;
(A) Constant 22 (B) Variable Jf-id_ﬂ (C) Keyword iuJ (D) Expression u'a/:‘-(r
6. The extension of BASIC program is: _.;_.Jﬂﬁ{IJJ%J}ZrI)j{.Q 6
(A) .bs (B) .doc (C) .txt (D) .bas
7. A variable name must start with a/an: el etk UG, T
. (A) Alphabet < xliM (B) Digit <= 5
(C) Underscore sk (D). None S0
8. Which keyword is used to increment or decrement a counterby a2 L/L(_I,Juiﬁiiﬁ,r#’d JH kgl 8
value that you specify: ?lat'ﬁdlﬁ'f
(A) Internal (B) Skip (C) Step (D) Next
9. The index of each element in the array is: :f.;-_b:mffﬁllfy’:,«;&_;! 9
(A) Same L L (B) Different 32 (C) Odd b (D) Even =&
10. The types of sub programs in the BASIC are: :L,grLfilJ (sub prc:grams}uﬂ/c{gd._&' 10
(A) 1 (B) 2 (C) 3 (D) 4
11. A collection of related fields is called: b GG 11
(A) File (B) Record (C) Characters (D) Numbers
12. In text mode, numbers of rows are from: :L,glﬁ/rzuuiiﬁuﬁr@? A2
’ (A) 0-24 - (B) 1-25 (C) 1-24 (D) 0-25
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SubjectCode | 5 | 0

-Computer Science

Marks: 63
v Section -I 2x16=32
2- Write short answers of any six parts from the following.
i. Define top down design.
i. Differentiate between algorithm and flow chart.
lii. Write down some important causes of logical error.
iv. Define reserved words.
v. Define variable and give an example.
~Vi. Differentiate between delete and kill command.
‘ vii. List three shortcut in Basic with their usage.
- viii. Write syntax of while...wend loop.
ix. Define Desk checking.
3- Write short answers of any five parts from the following.
i. Explain MS-Word.
Ii. Differentiate between GOTO and ONGOTO statement.
ili. What is difference between inner loop and outer loop?
iv. Differentiate between save and save As.
v. How a new blank document is created in MS-word?

(Essay Type)

vi. Write the method to remove a document in MS-word.

" vii. Explain the use of Ctrl+y.
viii. Write down the step to close the document in MS-word.
4- Write short answers of any five parts from the following.
.. Describe two uses of array.
ii. Define array.
jii. Explain Built-in function.
iv. Define subroutine.
v. What is the purpose of CHR$( ) function?
vi. What is the use of text mode in BASIC?
vii. Explain the use of PALETTE statement in BASIC.
viii. Define graphics.
' Section -1I

Note: Answer any three questions from the following. 7x3=21

5. Define flow chart and write down the symbols used 07
to draw flowcharts.

6. Briefly discuss the uses of Arithmetic, logical and 07

relational operators.

7. Write a program that input three numbers by user and find out 07
the smallest number and print on screen.Also give its flow chart.
8. Describe the way of reading and writing to sequential file 07

in detail.
"9. Explain the use of subscript variable with an example also explain 07
the color statement with an example in BASIC language.

Section -III  (Practical )
Note: Answer any two parts from A,B and C. 2x5=10
10-(A). Explain the use of synonyms and thesaurus in 05
Microsoft word also write a procedure of cheeking
spelling and grammar in MS-word..
(B). Wirite a program to calculate the volume of a cylinder 05
where V=nrh .
(C). Write a program in BASIC language that read an 05

array Z having 12 numbers given by the user then

print the sum and average of all array elements.
- 50-010-A-12000
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G Sdd
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The answer of ABS(-4.58) is:

(A) 4 (B) 4
2. The shortcut key to save document in MS-word is:
(A) Ctrl+S (B) Alt+S
" 3. Shortcut key used to copy text is:
(A) Ctri+S (B) Alt+C ~
"4, BASICisa language:

(A) High level  (z—»é sl
(C) Assembly J”l
- 5. BASIC language was developed in:
(A) U< 1970AD (B) U-r 1972 AD
6. The shortcut key to save program in BASIC is:
(A) F3 (B) F4
7. Integer variable uses how many bytes in BASIC?
: (A) 2 (B) 4

&

8. In For-Next loop, if "step" word is not used, then loop counter

variable is incremented by:

(A) 2 ®) 1
9. The types of subprogram in BASIC are:
(A) 2 (B) 4
10. Circle statement can also be usd to draw.
(A) Line o/ (B) Box L
11. Statement DIM C(30,50) would reserve_____ locations.
(A) 80 (B) 1500
12. The extension of MS-word file is:
(A) .dot (B) .doc

e 2K AB(-4.58) .1.1

(C) 5 (D) 4.58
:;.JJ@zLﬁJL/@ﬁffw:ﬁjdbmﬁwa 2
(C) C+C (D) Ctri+V
= P A $ 1117 (R
(C) Ctri+C (D) Crirl+D

-;:_f:)@__u@' 4
{E) Low level Jz_._.;:é‘i
(D) Machine ¢~
Jﬁbi’:@u@ 5
(D) u=s 1963 AD
:.«:_JJ@J@JL&?’?U%J# 6

(C) u=r 1976 AD

(C) F2 (D) F1 ‘
T.‘;.bfdbf*luf‘wy #(Integer) ,é et 7
() 8 (D) 12

AT 156 'Step'Ur o SFor-Next .8
?.;;.b’ﬂJLEIL*:rJ L}“‘Idﬂ;ﬁfﬁ'

(C) 3 (D) 4
:Ugru"!J (Subpmgram)rl):.;-.,fuf-@: 9
(C) 3 (D) 5
:L,"r}'ﬁhg ;ﬁ;..u&:ﬂ’? Circle .10
(C) Ellipse S (D) Pset
e (/bFeAl___ DIM C(30,50)2 .11
(C) 1800 (D) 150
!c:_,aﬁu;ii'gldl(,ﬁijﬂd.:’lﬁft B
(C) Xis (D) txt
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S.58.C - (Pari-II) -A-2015 ; \
Roll No. o S dsusd (New Scheme) Subject Code__ 510

Sessions; 2012-201482013-2015 -
Cﬂmplrter Science (Essay Type) Group-]]-n._.;:f | <.1)) u‘ lf"' )"1/

Marks: 63 Time: 2:45 Hours 2% 2:45:=5%
Section -1 2x16=32 J:L-p
2- Write short answers of any six parts from the following. 2x6=12 4_,{ ;HU.?/";LHPFELJJ’I&.JJ: 73 -2
i. What is the difference between syntax and logical error. *‘.».:du/’lfu* Jf'&afuf
ii. Write two limitations of flow chart. -J;C*fubbmﬁ.dlnﬁ n
iii. What is meant by Algorithm? - Sl W Bl i
iv. How would you test a program? "‘21‘2?.;* If /v
v. What is the purpose of using numeric. 'i';:.l:‘rdl*ﬂr_"ﬂﬂ‘f e !:5,@._)/ /}‘ vV
vi. Define READ/DATA statement. ¥ /S Se READIDATA i
vii. Define string variable. ) /Lfc..d“-ld..u..f / Vi
viii. What is meant by operator? fes /u’ ;; Vit
iXx. What is selection structure? " gy /U/:.. 2 G JAX
3- Write short answers of any five parts from the following. 2x5=10 4/ /{,u;ffgﬂ;rgu a.Jfa.btJ;bﬂ -3
. Differentiate between conditional and unconditional transfer of control. _qubu}u‘ ,“”Ix,l::/hib;/ﬂﬁdg/ iy
li. Which statements are used to control iterations in BASIC. ngrdw...ftuo)!c‘:l/@:ﬂ TL,L‘.'....Q i
iii. Differentiate between GOTO and ON GOTO statements. _J/ulau}u'c./-‘-" ONGOTOIGOTO .iii
iv. How does undo command differ from Redo command? *‘:.uﬁﬁ'cffcf.ﬁtf’ Redok Undo .iv
v. Differentiate between save and save As. _ufuw/u* Save As.siSave v
vi. Describe MS word. g oo i A i
vii. Describe some important features of MS-word. | _J)L!b...el,ay"’pd’ ,qulr’ I .vii
viii. What is the purpose of Ctrl+C in MS-Word? T.:,d r 12 Wu"/ J...«JL'GtrI+CL,C;;: Vil
4- Write short answers of any five parts from the following. 2x5=10 jutt?/"cﬁpfiiél.c:ﬁf:-gﬁlﬁbu -4
i. Define array. .,L;,):_ﬁ:ﬂf;_,;r i
ii. Differentiate between filling and printing an array. _J;@bujd .ﬁ»ﬂ:l..ﬁ#gfg..;l i
iii. Define subprogram. -J/J/’J J/C:/_.w i
iv. Differentiate between user defined function and built in function. -GS U'J:' Wlsd sl :"“'"LE.’-W:. v
v. Write the example of SOR( ) function. _UZ eSS SOR() v
vi. Give the names of display modes in BASIC. -.-Uff’téjj}"é:}u*uc:" Vi
vii. Differentiate between circle and ellipse. SeJ/YUsEllipsesiCircle vi
viii. Write the syntax of DRAW statement. -u’/ f Y22 DRAW viii
3 Section -1I . r.u,-ﬂ
Note: Answer any three questions from the following. Tx3=21 / | l?[....slllnf:..(jf:.LﬂJjbﬂ Wl
5. Differentiate between run-time error and logical error. 07 ,qubufu"xxfdj"fubﬂr‘ te B
6. What is type conversion?Write down rules for type 07 Lu:&/w HJJ""‘LJ fL-rLLJJJ/I_fE .6
conversion in BASIC? 2ADRL] -
7. Define control structure.How many structures are available 07 ..u*/ /d:/df B \..J;".u‘ fub_d/d//”( /‘LJJ/ d
in BASIC?Describe in detail. | S AT
8. Explain with an example the method of reading from file 07 uﬁ:-..f{l:/cf( _al-a.sc..d{’;*d:.al )'L.J_./&J.:..J t .8
also write a note on document windows. - uJ’f
d. Write down the syntax of CIRCLE statement and 07 _J/.....:»Luﬁlff.dwﬂuf ju’d{ Ko Circle .9
explain with an example. |
. Section -III (Practical ) (d’i ) fpﬂ
Note: Answer any two parts from A,B and C. 2x5=10  -(J/Z /n.el:[?’érfyfﬂ::-é&-d(ﬂﬂufui][ oy
10-(A). Write the procedure of applying the bullets on 05 xbu-;’b’uh:@"%}(a.bﬁ..;hrt&u&ﬁé: ().10
days of week and set font size '14' and Bold them. o PS4
(B). Write a program that inputs a number by user and 05 J:!;..I:f._.-ul.m.f .:.m’,l?’u‘”’d A f..f ()
displays its table, also draw its flow chart. - ws u)lﬂ')ﬁfd’.—/";"w& kUi
(C). Write a program that display triangle by using 05 b (12 .‘“_.r.a._fdh"‘ifwf 'DRAW' (%)
'DRAW' statement. i,
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. . *” L,M{
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A 38z ‘Mﬂu,_.affgfﬁuﬁru‘?éféﬂ:ﬂ#hc,B,A:——Lfﬁ;-ef_lgtiu]{fﬁ&fq;(éVL}‘J’IL&!}’&%}:’LHL&WJ’(F:@;
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. In high resolution and medium resolution(0,0) is always cdrner.- o _____4;:_,'::f,f'&(D,O)u’-‘gﬁ:’:;_:;(-fj,_wlu@:z;& & Py |
(A) Upper left Uikl (B) Upperright Ulbkzs  (C) Downleft Uik (D) Down right UKL,

2. Key used to save document is: :.-.;-_,J:*:JWI(Key)Jg S a1y 2
(A) Ctrl+S (B) Ctrl+B (C) Ctr+D (D) Ctrl+A

3. The technique for finding and removing errors from programmes is: _.;_Jﬁdlri"h_??#/ L/ Pﬁui ,i.h"’iﬁ;;f.:,(-'):.__{ 3
(A) Debugging FF3 (B) Desk checking &% (i3
(C) Programme rf/‘:{ (D) Flow chart &J!:g)ﬁ

4. When a programme follows a wrong algorithm then it is called: :ujﬁfalﬁrf.bfdsﬁ(fﬁﬁwugriﬁ{ﬁ 4
(A) Runtime error .girf'l:u); (B) Logical error Jgtd{;?ﬁ (C) Syntaxerror f__fiu"'fr (D) Test error ;;I.p:,f

5. Which option returns true?If: A=25 , B=35 Sl SupmuetsS 5
(A) A-B (B) A>=B (C) A<>B (D) A=B |

6. Maximum characters of variable name in GW. BASIC are: _%Tbl;:ruj,}.-:.uyrth’&fdﬂd GW BASIC .6
(A) }f*.{f 20 characters (B) }}gf 30 characters (C) ;}f/ 40 characters (D) J}ff 50 characters

7. Which is conditional loop? T;;_h:.«.e'ﬂif U 7

(A) For loop (B) NESTED loop (C) WHILE loop (D) FOR and WHILE loop

8. Maximum numbers of dimensions of array are: -..;.:Mu_t,};ukidbﬁﬂf;.;l .8
(A) 200 (B) 250 (C) 255 (D) 265

9. Which statement is used to access a sequential file? ?ﬁ:.axdb&i.:ﬂ;' Lffr’%—f .é../J" bJLfJ..fﬂiJg ¥ 9
(A) OPEN (B) OUTPUT (C) APPEND (D) WRITE

10. In BASIC text based screen mode is: _+ir@/‘i5¢~?bt.@ 10
(A) 1 (B) 2 (C) O (D) 4

149-010-A-TC W



8.5.C - (Part-I) -A-2015
Roll No. o Sl (Old Scheme) Subject Code | 3 | 8 | 3

Session; 2011-2013

Computer Science (essay Type) Group-Iluh;sf A1) w L7 9‘/

Marks: 40 Time: 1:45 Hours é 1:45:23 - 40 /
Section -1 - 2x12=24 Uil
2- Write short answers of any six parts from the following. 2x6=12 c{ f-—-*l«'.r"ﬁ!é:piflﬁ ;sz.:,u‘ JJZ,;: -2
i. What is meant by "document a programme"? ' ?r_,,t/b(.;;.ﬂ_./uf;ff»l(’fjf N
ii. Define "Analyse the problem"”. T-*:_.JJ‘,/"E-(L::,ZZ‘J-" i
iil. Why a programme is tested? S tLUx Testfily i
iv. What is meant by type declaration? _ ) fu/c;.J"’ )5-;...:5 b iv
v. Why assignment operator is used? *‘a_b'fJWFu/;ﬂJlrl v
. vi. What is difference between arithmetic operator and relational operator? 'i‘a;u,ﬁlfu" fx!J’J' 13 ;xh_C»"" I Vi
vii, Differentiate between outer and inner loop. - ..u_ffu_[::u/ﬁ..;:’z; VR
viii. What is difference between ERR and ERL? %« J/YU“ERLSIERR vii
ix. Define one dimentional array. it f_ﬂfJa.;IJfJ JAX
3- Write short answers of any six parts from the following.  2x6=12 cé‘/ fuLI?ﬁfipli!fc_ch.J St -3
i. How many types of array are there?Write in short about each one. _J)fff/"{;";,;LLJ ,»vrurg/ d/g.wrl N
ii. Differentiate between sequential files and random files. wuj/u}k:u/uf)br#_uﬂ}bg}’f i
iii. Write a difference between data file and program file. ?;J)L,UJ%(J oSGt i
. iv. Whatis meant by CIRCLE statement?Write its syntax? .,u:): /’:‘u’dx (O] /er:—-u-'/ CIRCLE .iv
v. Define graphics. ' ..J):_.ﬁ/‘Jflf vV
vi. What is meant by Title bar? fe e AT Vi
" \ii. Define drop cap. - ol S i
viii. How many ways are there to change the margins of a document? SUrE IE LSSl a5 i
ix. Write the usage of clip board in MS-word? _EUJWIH'E';:E..,-(JLJMS ix
Section -1I (12
Note: Answer any two questions from the following. 8x2=16 -\ z‘;ffuLlfﬁuUlru:..tj;(:.fufJ PR,
4. Define algorithm.Discuss the strategy for developing an algorithm. -q_‘/ubd’f JJA_.WJ :ff (Tl /lf;:—f ;ﬁ 4
5. What is IF...THEN statement?Explain its working with -L{f:,«:-us:.uw;iw;?b.v"ﬁ-‘;.g’uﬂ IF....THEN .9
flowchart and an example.
6. What is file handling?Explain the following terms used Jiﬁﬁdwfﬁuﬁigd%%_:ylﬁ;_ﬁigjﬁ .6
in the file handling. g Szl el 5T
(i) Character (i) Data file (i) Record Y i) JBs iy AL 0
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**ﬁ'ﬁ S.S.C-(Part-II)-A-2016

Roll No. St PaperCode | 7 | 8 | 3 | 7

Sessions; 2012-2014,2013-2015&2014-2016
. . (Fa y’
Computer Science (objective Type) Gmup-l-.,;,f (& S s

Marks: 12 Time: 15 Minutes &415:=% 12:4
/.Ufﬂﬂ.a__f(é B/L}fﬁfug_@fﬂf‘rfflﬁgﬂfﬁ ."Zé_.! D.sl,C, B,A:al_»fﬁ;f.z.lyf. Jivs c_ffg.ﬂéﬁ’d F:?U:f!f’&%:h:;}lﬁi;f J_"frﬁ:h.':.!,’;
S e S S L NS 5 s D L CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

H‘I‘:1. Which of the following control structure is used to execute fo L,‘/u,ufl. b{%j}f‘):/ S J5 1.4
statement in order? Cebw 125y
(A) selection 5tz (B) sequence 7 (C) loop 4 (D) alithese (U,
2. A loop within a loop is called: ‘-:"_.JU';'(?)JJJL&“;!! i
(A) complex loop #h4% (B) sequence o7 (C) infinite loop —J5t5U (D) Nested loop /i
3. Which of the following is used for selection control structure? ?q.tﬁdb?rg LB Ui 3
(A) For (B) If..then...Else (C) If....then (D) Both B&C s
4. An array is represented in computer memory by a set e S /ﬁﬂé Sl 4 4
of consecutive memory___: :.r;_th-l_fCe;u:
(A) value .4 (B) Index u’fi'f (C) size 7L (D) Locations f‘-f)
5. The index of first element of an array is: :.g,u’i"lfb’dg% Lol J8
y @O . @1 (€) 2 (D) 3 |
“6. The output of a function INT(3.999) is: :‘—;__*{,_*FSTK[NT(S.QQQ)JE' 8
(A) 3.9 (B) 3.99 (€) 3 (D) 3.999
7. The colour of code 2 in palette 1 is: :.«;__E»K2$fﬁ1 2l 7
(A) Blue U (B) white &~ (C) red i;/ (D) Magenta 7/
8. Shortcut key Ctri+Y is used for: ::;_JI?JJE’LT*ICtrHYJJ.:;Li 8
(A) undo sl (B) find %&bk (C) page break £«& (D) Redo 3.
9. The extension of M.S. Word document is: :?a’f N "Inﬁ.w.-:( I.#.Ludlrfl .9
(A) .xis (B) .wpd (C) .dot (D) .doc
10. Which type of error occurs when program directs the computer to ?:;_L“;J:fgi,f:,,(é_/?h’ L}ﬁﬁ,{ﬁé‘t&.ﬁ: 10
execute an illegal operation? L e t'ﬁél.u“/FL-J:(
(A) Logical error .:__JU?-) (B) System error J{'r“/ (C) Syntaxerror .gfu’"dP (D) Runtime error J_./[FEL‘)J
11. Which of the following statement temporarily stops the {Jﬁﬁﬁxg}? rJrI)i;u":.:ﬁf UJ;(&-LJ:J.;E?JJ A4
execution of a program? ?%G': o
(A) Break (B) End (C) Pause (D) Stop
12Y The logical operators available in GW Basic is: _ e ool G T U ks 8 12
(A) 2 (B) 3 (C) 4 (D) 6
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5.5.C - (Part-Il) -A-2016

Roll No. e S

Sessions; 2012-2014,2013-2015&2014-2016
Group-l-.._.;_..-:/f

Computer Science (essay type)

SubjectCode | § | 0

8 |3
(1) Jo Vfg{
63 :

Marks: 63 Time: 2:45 Hours .bi' 2:45:29
Section -I 2x16=32 J."s’f;-ﬂ

2- Write short answers of any six parts from the following. 2x6=12 *@fagrﬁﬁﬁfrziga.éfa.ut;b@: -2
. List the steps that should be followed to solve a problem. _qﬁgujJJyéL/UﬂP i
ii. Define disk checking. LS L5 i
iii. What is meant by syntax of a programming language? P sk AP B AY T
iv. List important causes of logical errors. Ul 2 Iu‘f?_.&xf(fl’? v
v. How do type declaration characters work? ?L,_r;i'_/[:' KJ}—?} o ﬁj.ﬁ.ﬁ (Y,
Ii' Why are remarks used in programs? ?@L@édwnuﬁuﬂumr&fi{ vi
vii. Define operator and write the names of different types of _L,rf?*tﬁj,aﬁ_iﬁ'u‘:u@ﬂufbyﬂfﬁgf Vil

operators in BASIC.

viii. Differentiate between NAME and RENUM. _L{fw_L:J}ufﬁLrRENUMmNAME Vil
ix. Explain assignment statement. ' _uf[ww:‘fcﬁ?&ﬂfl X
3- Write short answers of any five parts from the following. 2x5=10 _E}foal,fﬁ/ﬂaﬁdzf@:ﬂf;u: [3fuss =3

i. How many control structures are there in Basic?Write the names.
ii. Write the syntax of if-then statement in Basic.
iii. Define loop.
iv. Define 1-D array or vectors array.
v. How subscript variables are written?

vi. Why is DIM statement used to declare array?
vii. What is meant by array manipulation?

viii. Distinguish between function and subroutine.
!{- Write short answers of any five parts from the following.

" i. Write a statement to draw a line in graphic.
ii. What is meant by Text Mode?
iii. Describe the use of 'PALETTE".
iv. Write any four names of document views in M.S. Word.
v. Wirite the short keys of 'CUT' and 'COPY".
vi. What is the use of allignment in M.S. Word?
vii. What is a header and footer command in M.S.-word?
viii. Write the names of two things which display on Status Bar in
M.S. Word.

Section -II
Note: Answer any three questions from the following. 7x3=21
5. What is problem solving?Explain different steps of 07

problem solving process.
6. Describe detail of arithmatic and logical operators in GW-BASIC. 07

7. Write a program to find the largest of two numbers. The 07
program should get the number from the user.

8. Define string function.Describe three different built-in string 07
f¥inctions in BASIC.

9. Define and explain with example: LINE statement and syntax. 07

Section -III
Note: Answer any two parts from A,B and C.

(Practical )

10-(A). Write down the steps to RENAME of a 05
MS-WORD document.
(B). Write a program to calculate average of three numbers. 05

(C). Write a program that inputs five values in an array and
displays maximum number.

50-010-A---
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Viii

2x5=10 ..é};gmﬁ"”&lzrég;@fcdijm -4

S NsiabS
e slplc tret i
~J I PALETTE' il

_L,:/Er}[:'iu!._;:.J:Cf_{views);{;wx.’/liuﬁ;:-di-rfr v

_L{/Q;;[L-Jﬁpri'b(COPYJ!’CUT v
S SIS AU s R i
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*‘iﬁf* S.S.C-(Part-I1)-A-2016

Roll No. e 3 Moa | | PaperCode | 7 | 8 | 3 | 6
Sessions; 2012-2014,2013-2015&2014-2016 '
Xl
. = . b
Computer Science (Objective Type) Gruup-lI—..,;:f (%) u’. L"/&{
Marks: 12 Time: 15 Minutes &415:=% 1857

A3z -wﬂf?ffrﬁu@wé;mm,c,B,A:..l,rmtégéidnfﬁzg%(L}!;:u".;,#famyz&amer-“f:,.uﬁ
U eSSV I3 JEUsED L C B A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

#.1. What is the first element of an array having four rows and three columns? ?,:_qu;’:%&_;fﬁ;u:)b’ufuluulb}}jf o |

(A) A(0,0) (B) A(1,1) (C) A(4,3) (D) A(2,3)
2. An element of an array is mentioned by its: ;£Ibg.f_ijwfg}:£¢_Jr_Q 2
(A) subscript ::....i.;_.-./‘.___.»- (B) array </ (C) object < L7 (D) Name of element c-r'tf-dc
3. The Basic statement used to define a function is: :{_JI,_;JJWFﬁ ...C;}fér i_fL-J_L;:”J'ﬁ 3
(A) DEF (B) DEFEN (C) DEFFN (D) FUNDEF
4. The colour of code 3 in pallete O is: :.—‘;.ifb’s,#fuio..bg 4
(A) brown 1% (B) white (C) green (D) magenta ({7 2)ug
5. Keyboard key for "Save As" is: :..;_.{key)JEJ:fJ&_l;’, 'Save As' .5
(A) Ctri+F12 (B) Ctrl+F5 (C) F12 (D) Ctrl+F2
6. MS word is a product of which company? ?Lb:.—i..ﬁ?-r J'}J:JI#I 6
(A) Microsoft &+ (B) Coral Js (C) Novel s (D) Lotus
W7. The process of carefully observing the working of an algorithm is known as: bl KZ;.@JL«LL?J:‘?KLﬁJI T
(A) Compiling FkY (B) Debugging ¥}
(C) Desk checking ﬁ\_f;'i (D) Coding &3/
8. Which key is used to load a program in GW Basic? ?q_JLgJJWI{key)J;V?‘_;f Lﬁﬂ:"(rﬁ{ww@fﬁid 8
(A) F1 (B) F2 (C) F3 (D) F5
8. Non-executable statement is indicated by: :;I:,JQJ,;L!J.:,;}-*"J" JEr 9
(A) RENUM (B) END (C) REM (D) CLS
10. The types of control structures in GW basic are: :ufﬂﬁru"f@f}dsffd._ﬁ_m‘:id 10
(A) two 1 (B) three & (€) four b (D) five &L
11. An other name of keyword is: : e bl king 11
(A) Reservedword 431,z (B) special word 5%  (C) remarks JAL (D) numbers siel |
12. Which option is used to exit from an error handling routine? T.};Gﬁdb?lﬁffkgﬁcﬂcﬁuﬁiggl 12
(A) RESUME (B) END (C) RESUME NEXT (D) allof these iz
54-010-A- 3 W W



S.5.C-(Part-I)-A-2016

Roll No. Sl - - SubjectCode | 5 | 0 | 8 | 3
Sessions; 2012-2014,2013-2015&82014-2016 s _
COﬂlpllter Science (Essay Type) Grou p-II-'u,;.!f (ZEn w L"’/J:Qf
Marks: 63 Time: 2:45 Hours &£ 2:45:=% 63 : /7
Section -1 2%16=32 di’fﬂ'a )
2- Write short answers of any six parts from the following. 2x6=12 -E"é:rf:;yi:/ﬁﬁdmgc.dfaddjau -
i. Why syntax error occurs in a program? ?q—t'TLJJ:G;‘U’@ U i/f:_;_: A
ii. Write names of any two symbols used in flow chatt. -UE?UE’QLLLFJJU'J}UULHJWTJA-—J%)B i
iii. What is debugging? - P S Sestple 3 i
iv. Define Algorithm. AN v
v. Define constant. - _q,‘fquﬁgf:.auf v
# \i. What is direct mode in BASIC? - Sesl e Sra Sy i
vii. What is the use of IDE in BASIC? | e K IDEY: L il
viii. Differentiate between command and statement. ..q_’fuy.u")dﬁ-ﬁ:fh( Viii
ix. Write the method to save program in BASIC. -uf’ﬂ{/'" b’%./@ﬁ‘}?uf{ui_,@ X
3~ Write short answers of any five parts from the following. 2x5=10 -éfagfﬁf?ﬁflzfégc.éfgwdmﬂ -3
i. Define WHILE-WEND loop. U/ S SIWHILE-WEND i
ii. Write the syntax of IF-THEN statement. ST §o# IF-THEN _ii
iil. Differentiate between FOR-NEXT and WHILE-WEND loop. -/ /WkeJ /f ! WHILE-WEND.sh_/FOR-NEXT _ii
iv. What is meant by elements of array? . Selplefile i iv
v. Describe the purpose of array manipulation. | -J,fdkkﬁ’f'&“{&Jd—ﬂ A%
vi. Name the types of array. -L{)}f l;f.ru"ld’.«._;i Vi
vii. Define subscript. _.L,a:)f:g’/")'(;d{,.;:n_u’ Vi
viii. What is meant by numeric functions? _ T:-;_Ji/"lfc_ /‘G._J/ (v Vi
4- Write short answers of any five parts from the following. 2x5=10 _éfggmﬁ?ﬁplzlﬂ.—;ﬁfsﬂuﬁdﬁm 4
® i Write a note on SCREEN 2 mode. - | _ -UfLiiSCREEN? i
it. Draw a circle through circle statement. D ﬁaﬂ;.ﬁ:‘,{_ﬁﬁﬁ CIRCLE i
iii. Define Text Mode. | S Sre i
iv. Differentiate between Undo and Redo. S IO AT v
v. What is the use of clipboard? - | e I3 v
vi. Write the names of types of alignment. -uff*tirlﬁﬂﬁm Vi
vii. Write the method to underline a text. | oy i S 85T i
viii. Write down the dimensions of A4 and legal size papers. i | _L/.'f"'T /ﬁ‘-’fljJ :P'L«g:legal.w.dﬁ@ Viii
Section -II | L (pe
Note: Answer any three questions from the following. 7x3=21 _Qéfmgmémﬂlfufmdfaﬁg HONRNT.
5. Write algorithm to find the sum of first fifty(50) natural numbers. 07 -u“"jﬁ:ﬁlg i,f oyl s&mdxjsog 9
6. Define variable Describe different rules for naming variables in 07 £;r't£¢!/§"uﬁé,sl_ﬁ_g?¢_;y{:@;.¢ 2> .6
- basic language. SIS
7. Write a program which prints out the sum of following 07 -d../:f:w{@/dfﬂf Ky ,{Jﬁjaﬂgq)}f}rﬁ{_g i
series on screen. . 2468....,100
8. Define file and file handling.What are important terms about file? 07 o ﬂbfiﬁfﬁb‘?c;d‘{ti_q/ﬁy,fvﬁigJ’,U;:Uﬁi .8
| . i s
9_* Write the syntax of CIRCLE statement.Also give an example for 07 éh_cﬁ.:eté:_e_{'/ﬂ:f ﬁfé“/ baslt CIRCLE .9
explanation. | | ' S A
Section -III  (Practical ) _( (J’f )

Note: Answer any two parts from A,B and C. 2x5=10 ,L,:/f,;f.:.,ynﬁ HZJJJ:-J!‘:-L,ﬁ@JﬂngI' WLy
10-(A). Write down the steps to insert page number in MS-word. 05 _Jﬂ);f/"J”yﬁi.b’j,{?Jiu_*.ﬁw):/’L (21).-10
(B). Write a program to calculate average of three numbers. 05 _uﬁfﬁgg é.,/?ﬁ”iwf{fu:/:}ﬁ Stz ()
(C). Write a program that reads an array Z with 12 numbers and 06 Jﬁrﬁ.;{z.:_ﬂyi}fﬁmzﬁl)f%[j{d L (¢)

find the product of the elements of array. . -f-u/’_?‘JL" —r S

52-010-A~



D&D(Part-11)-A-2016

(For all Sessions)

Computer Science  guddlu oS (s
Paper-ll (Objective type) (J}’u:?s/")I:___gg ______________________ (Sus) A
Time allowed: 15 minutes w2150 -____---_"__-___:é:_“’g/-,ujfﬁq&}rﬁ@f
Maximum Marks:6 6.4F

__,_____,,----__:fyl:.._ftﬁ?":s

- fﬁ;r“’j}:l&'u._.alﬁlﬁtaﬁ/ Bf_l_;/(:.fﬁf_ g’g&’ bl _»,,y,fdf SIYEIL Uz L,l_}]ff,ul'/:'}d )
L G YFAL SR,
P2 115]-1 (\/).;.._.Jﬁ:.-f.u_q. enAtLle Sl e Uzslis L ivr A

-~
Types of data are. _L,grLl?!Jng (i)
4 (C) 3 (B) 2 (A)
The data which consists of Numbers is: et ozt | (i
Alphanumeric Data 3/2/ul(C)  Numeric Data L3S##(B)  Alphabetic Data &Gl (A)

The smallest unit of memory is: el e K | i)

Kilobyte <1 (C) Megabyte wf. (B) Bit = (A)
RAM stands for. ~ A | (iv)

" Readable Memory(C) Random Access Memory(B) Random Memory (A)
Nibble consists of: et U (v)

£U* 10 bits (C) (U™ 4bits (B) (U* 8bits (A)
ROM stands for. e (ROM) s | (vi)

Read only Memory(C) Readable Memory(B) Random Memory  (A)

D-72-10-A-600




D&D(Part-11)A-2016

Roll No. e Ss# (For all Sessions)
o’
Computer Science S s
Paper-11(Essay Type) Sy A1-D)i 24
Time allowed: 1.15 Hour 25115 53,
Maximum Marks:24 24!/:2{){
(Part-1  Jil» )
2- Write short answers to any seven questions. 2x7=14 -#‘?.“—-UJ?;;L:;UV(?):;V:;.L;! -2
< - Whatis Data? e L5 i
ii. What is processed form of Data called? ?L,;;g'{gfn::if_ﬁz{u‘-’;{ i
ili. What is Numeric Data? '?r:_.ﬂlrrl.‘f_i_f/:.’:} A
iv. What is Alphanumeric Data? T:r_erzjdjfﬁE&l v
v. What is hard disk? '?ﬁi..l_u_f._ﬁﬁz} v
vi. What is bit? e s i
vii. One Kilobyte is equal to how many bytes? b LAV o\ KL i
viii. Write the names of any two memory units, | - Ef?:’tci-di’dﬁfucdd}( Viii
ix. Write names of some secondary storage devices. -g?l:ﬁ;ﬁ@]ﬁﬁ;ﬁ?& JAX
X. CD is the abbreviation of what? ?.1:..‘.53%_;'([2[} X
‘v

( Part-II (132> )

Note:Answer any two questions from the following. S5x 2=10 _Eﬁﬂaglﬂﬁsjdﬁ:.ut@Ufrd’j(;w!.b;
3. Describe the types of Data. _L{/L;Jkr'b’"ftfl’},j 3
4. Write a note on RAM. -U:a{‘-f..'!;{(RAM)ﬁ:J 4
5. Write a note on Floppy Disk. _L;.:“'d&;,_;._ﬂi(élﬁ 5

D-73-010-A-600



**’ﬁi’ | S.8.C-(Part-11)-A-2017 | L ‘“*

Roll No. S0 PaperCode | 3 | 8 | 3 | 5
' Session;2015-2017

. i b
Computer Science (Objective Type) Group-Tres)” () S e
Marks: 10 Time: 15 Minutes &2415:% 10/‘

diﬂjuq{drfc e mon W e L E 5D CB A2 iy c‘,‘.’qﬂ.éb'dh”u"’ f*u{s:Herﬁ_,ury—ru Ly

_J;/LGLJJL/ e P03 S s D L CBrA &L
NOTE Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. A collection of variables that can store data of same type is known as: .«-_t'uf .LC@' 241 v 52.’:(" ;j:..f :"‘...WLJIK..J/”' 141

(A) Variable name rtbf/”‘ (B) Array i (C) Subscript u/':'_-f (D) Memory location u}"-’-gdsr"
2. The function is used to convert ASCII codes to their character L/Q;fwfgﬂskﬁ:f ASCIIu‘ﬁ .
equivalent: :‘?..t':rdl.t“'r#/
(A) CHAR $() B) CHR () (C) CHAR (D) CHR $()
3. Which of the following is not a valid graphic mode command? T.;.uﬁ:tﬁr._ﬁ’ I'/(MJJL}J:J’:_JLZ}@H 3
(A LINE (B) PSET (C) COLOR (D) None 43
4. MS. word is_____based program? *r_rlf sU5 __ sMS 4
_ (A) Windows sty (B) System [~ (C) DOS 1} (D) None of these e Ut u!
9. Division by zero is: c.,r‘"’:—_ﬁ 5
_ (A) RunTime errnr.a_,_zllf*:u; (B) Logical error ;_,.rU{-hJ (C) Syntaxerror ;;Iu'ér (D) Not an error uJ“/'J!(
6. How many possible solutions are there for a problem? ?bﬂrrcfg‘_}’g&,ﬁmﬁ 6
(A) One (i (B) Two 1 (C) Three (D) Multiple (&
7. The maximum length of a variable name in GW-Basic is: ..r;_JQuLJ;u_I,JJ&M;:.QJ._QnAE@ by
(A) 31 (B) 32 (C) 40 (D) 45
8. Which of the following operators has the highest precedence? ?ﬁ:.t'{;éf"upﬂ-u,fﬁ.{fu:&.dyl 8
(A) 1 (8) * (€) + (D) =
9. FOR...NEXT is used to implement: . (S FOR... NEXT .9
(A) Iteration f.l;r:rl/c: (B) Selection ﬁ;l%?'f (C) Sequence g__.;} (D) Control structure é_:”ﬁ,:-‘kdsj-‘(
10. In two dimensin array when dimension is not mentioned the array n;LJ___ufa_;I?xﬁfd:;wﬁbﬁ:._Jr&‘}: 10
should not have more than____ elements. :ﬁ};i.ﬂd{;ﬁbﬁl
(A) 121 (B) 110 (C) 100 (D) 10

49-010-A- WYY




. | -8.5.C - (Part-II) -A-2017
“|Roll No. St |

: Session; 2015-2017
Computer Science (ssay ype)
Marks: 40

Section -I 2x12=24
2- Write short answers of any four parts from the following.
i. What is problem analysis?

i. Why is logical errors difficult to find?

iii. Define bug and debugging. .

iv. Write down any two advantages of flow chart.

v. What is meant by reserve words?

vi. Write the purpose and syntax of NAME command.

'3- Write short answers of any four parts from the following.
i. Write syntax of GOTO statement.

di. What is meant by title bar?

iii. What is difference between save and save AS?

iv. Where is the status bar located?

v. Write keyboard shortcut to make a new file.

vi, Write the paper size of Letter. |
4- Write short answers of any four parts from the following.

2x4=8

2x4=8

2x4=8

i. Define 2-D array.
i. Write down two uses of array.

ili. What do you know about Go-sub return statement?
“iv. Define library functions.
v. Write note on text mode.
vi. Define PSET.

—

Section -II

Note: Answer any two questions from the following.

5. Briefly describe the use of arithmatic and logical operators.
6. Define selection structure.Explain IF.....THEN....ELSE statement.

8x2=16

7. Write a notes on:

(i) Fix function (ii) SIN function (iii) LEN function

50-010-A-28500

Group-I-...f:/
, k4
Time: 1:45 Hours &£ 1:45:%

I
.-#""f.

//'

(W) (J"" L7 !"r

40
d_‘@( f—«“ﬁ'/"fﬁr[? l';kz:.éj’::. L}:J it -2

d.sl,_.p

?.:‘...J/ir(c...,.af A

‘e St/ Sl &
..J/r._.df’t_;...ﬁrdyﬂj
J e d,‘Z._,; Lv:"’

Jdir_ J/'rr;‘;.-.L Lﬁ”:r/?:

1AL Name
_%fuu.?/‘jﬁﬂfb[rmé:f:. ufJJE,.u
- b’._.«""'GOTO

?LJ/L-(&.JLJ‘E

“‘:.u,)lfu"Save As.iSave

e bl ULD L.,;*“

USRS i

o Sk
ﬁéfc,ymﬁf.,r:zwa.@;uw,w

-q/._gf&_;nz-n
2 CH | [TV PR
"u‘r;..lplfu !'L}JJJ‘LMUJJH‘J"
_J/..;/}f/—ﬁdffﬂ
- ...-—:'fjr‘ -
/s S PSET
5.3 >

.'I
il
AV
N
Vi

-3

i
dii
v
.V
Vi

4

i
il
AV
vV
Vi

stk j’ = ?Lu”b’ﬂ&-d[&(ﬁg}jbﬂ (2

_J/ULsrfniLfbj:IdLP/»!’/“’ 5

S 1. THEN... ELSE_J/J/’J/}J?
..Jf»....«?[.-c:

-ufﬁuf{g)":bu b g

(iv) RIGHT function.
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ﬁ -’/:) ﬁ_/ S.8.C-(Part-II)-A-2017

Roll No. o Lobha | PaperCode | 3 | 8 | 3 | 2
. Session;201 5-2017
. g o "i"J
Computel‘ Science (Objective Type) Group-ll-f:f (S5) U" L-"/,.,
Marks: 10 Time: 15 Minutes &415:=3 10: 4

;;.Jm,rr_;qm}fﬂr « 4.:..a.s..__..'v’f.flﬁu%géé.,;oﬁf,C,B,Aagnﬁﬁxgidimzﬁ‘f_;dy@mLff;ffdj;,ygégurrrﬁ:c.«!
,QJXLLFL:J@'_QAM:_Jf’b:ula'?.-*_*-u:u:ﬁhé:D L CBcAsz& L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided,

1.1. Program upgradation refers to: | | i ja:,.f_ﬂl:«./”:‘:?fxi.; 1.1
" (A) Pragram enhancement G%Jrr):{ (B) F’Eugram identification ..-:ﬁbf-':,frlzc,;
(C) Program development tb:rffj,; (D) Program Implementation Jﬂblifr!):,;
2. Diamond symbol represents the: :.-.:._J/ff;tﬁ_-.-*w 243 2
(A) Inputfoutput 23T/ (B) Decision making (il
(C) Processing ..flr:{ (D) Remarks ‘/;Lf,,;
3.* The maximum length of variable name in BASIC is: e Sihsbic S AUt L3S 3
(A) 31 (B) 32 (C) 40 (D) 45
4. Which of the following operators has the highest precedence? T;‘:.%..wf ﬁ}n,spc,..,wﬁ{ﬂfc;f;;u:djan 4
(A) * (B) * | (C) = (D) +
5. FOR-NEXT statement is used to implement? '_ :u_j:i'_.fdb-:“f.:.:fff' FOR-NEXT .5
(A) Iteration a_{.’frff (B) Selection gfl&:‘i (C) Sequence #L;} (D) None u.’.’df
6. An element of an array is mentioned by its: :LJIL,EE_/’};LE,"JELL.JI._Q 6
" (A) Subscript ecc - (B)Amay  coc s (C) Object «.f% (D) Name of element «(tZu)
7. Maximum number of elements per dimension is: :s;:.cjmfﬂu:,l;icz—uLJJwﬁﬂﬁaﬂ-g v
(A) 10 (B) 255 (C) 32767 (D) None U3
8. Answer of INT(-5.7) is: e AZEINT(BT)E 8
(A) -5 ; B) 4 (C) -6 (D) 5
9. Normally the computer monitor screen is in: I.f.-{j}’s'c)_:/ﬁ J/’fr}&f;zﬁrb .8
(A) graphic mode uij:f....fif (B) text mode Sl
(C) Both A&B U (D) None of these (e il .
10. MS word is a___based program: :r.:'..l"f/'j{g,):.t__jﬂms 10|
" (A) Window s (B) System [~ (C) DOS U} (D) None of them (e tul
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. S.8.C - (Part-I) -A-2017 .
1Roll No. Lf?,:f;ljgi
Session; 2015-2017 “
ComPUter Science (Essay Type) Grou p—II-u,r.r:j 4.1 Lf'. L’/&{
Marks: 40 Time: 1:45 Hours &£ 1:45:2% 107
Section -1 2x12=24 ;J:f,.m
2- Write short answers of any four parts from the following. 2x4=8 cf/ fwl'?ffér!flJbLJ:&*uthij -2
i. Define problem identification. el est (e
ii. What is program implementation. T /Lfaa..fﬁlfljjx i
ili. Write down any two symbols of flowchart. AL&»J dfnf_.uln" i
iv. What is meant by algorithm. ) /Lf:,zhﬁf iV
v. What is the difference between variable and constant. 4 4’{— u‘J""‘ .sf/“" v
vi. Write down the names of logical operators. t.f_'.J;zldy Vi
3- Write short answers of any four parts from the following. 2x4=8 4,/ f._.-LL?/"é:pF bb:_df.::.btJ:bu -3
i. Write syntax of ON...GOTO statement. _J/}[ gLt ON....GOTO .i
ii. Draw flowchart of IF... THEN statement, ) b.-;b)’&.f“ IF....THEN .ii
iti- What is meant by the drop cap? q':’_qu:':'_.-JufJJ il
iv. What is the size of Legal paper? 'i‘.r_l/zbbj-‘(ﬁ‘ iV
v. Write the use of "Auto complete" feature in MS-word. _J):*/JWTK...«L«::" ‘L—Lf*"U"mu" Il v
vi, Write the shortcut key of cut command. -u’.&ﬁf SIS i
4- Write short answers of any four parts from the following. 2x4=8 4_‘@( iR d:rffbba:..dfﬁ.btghbﬂ ~3
i. Define array, ) Vel i
i. Define subscript in array. -Jf....uf PP Oy D I
iii. Differentiate between ABS() and INT( ) function. _J/{Jbu/’u” INT( }_u! BS( ) .iii
iv. Define Built-in Function. it ...:J/’J uh.Jv v
v.” Define Graphics. ' U fa-ﬂ/’Jf’ S v
vi. Define color statement. _JfJfJJ COLOR .vi
w Section -11I - ::.-ﬂ
Note: Answer any two questions from the following. 8x2=16 _u’f /’..;L!P/_'uﬂlﬁ::.:.éfa.ufgf 3l WLy
5. Define variable.Describe rules of naming variable rLE’L}"‘i(_ﬁ’nJG W. Bas.lc_g,ff..dj’gfd"ldﬂ 5
in GW Basic. Sl s
6. Differentiate between WHILE...WEND and FOR.....NEXT loop. -u‘fubu,;u‘...»;'FOR NEXTWHILE...WEND .6
7. (i) Describe SCREEN modes. -J/’L?L.n.a&:rv‘/‘ (i) .7
(ii) Write purpose of LINE statement. _J/C-/WKM LINE (ii)
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D&D(Part-1)-A-2017

(For all Sessions)

Computer Science (il i  giaaS”

Paper-Ii (Objective type) GAS Mz 4
Time allowed: 15 minutes LA 5y
Maximum Marks:6 55/1} LF

_Ers e 12l L S AL &LL{:@%L;,.;{U‘T&UKL Uyt sty

L GYFAL Ry

_.c..tﬁuL-'K (\/).f....«li-..am..a.....-m....»[?._f e SRl u*é.;..:_.w,@idwf A

Processed data is called:

-

Output <231 (C) Data L (B)

surl fesend Uy

Information J"i}u}r (A)

(i)

Data which consists of both numbers and alphabets is:

Alphabetic Data 3Gl (C)  Numeric Data &3S29(B)

e B L}" e USSs bl el g5

Alphanumeric Data &7 iti(A)

(i)

Nibble consists of: :%tﬂy S | (i)
(U* 10bits (C) (Ut 4bits (B) LU 8 bits (A)

The most famous optical disk is: - ugtf;,.,,fﬁ.ﬂjﬁ'f (iv)
Compact disk L3l (C) Hard disk 334 (B) RAM (£ (A)

Types of memory are: _L,"r:ru"!Jdm:' (V)
3 (C) | 2 (B) 1(A)

A primary storage device is: e JTE 8 AL | (vi)
ROM (s (C) RAM (. (B) Hard disk L334 (A)

' D-72-10-A-400



D&D(Part-11)A-2017

Roll Na_ L_L;,ﬁ_,r,,yi‘ (For all Sessions) l L
Computer Science | J fbf},ﬁr
Paper-11(Essay Type) GAZENN 12 4
Time allowed: 1.15 Hour | 26115 1
h.ldaximum Marks:24 | 24:/'-}(.){

: (Part-1 (o)
. Iy
2- Write short answers to any seven questions from the following.2x7=14 ..2.‘!6 m}lj{/‘fa‘::&mf@b&(j:(:ﬂdd ilyss -2

i. What is byte? ; e lfurl i
ii. How many Kilobytes are there in one megabyte? ?ﬁ.tﬁzlxiurt’@:rz&ﬁ@_g i
iii. What is alphabetic data? ?f.l_f(lii...@lﬁk_l i
iv. What is RAM? e Ui iv
v. What does CD stand for? S 5% CD v
vi. What is ROM? | Sl vi
vii. One Kilobyte is equal to how many bytes? | ?r;-_m,fuziﬁliu’*’gkg Vi
viii. How does computer store data? ?.Ic.t'/’];:"’;b)ﬂl‘;ﬁﬁr Viii
ix. Write the names of any two memory ﬁnits? ..w."fﬂ&u%d;:ﬁ;;df ix !
x. What is floppy disk? | e VL33 :
. (Part-Il  (.2>) |
Note: Answer any two questions from the following. 5x 2=10 -é:fﬂ:.*gl.ﬁs‘:-u:.-éfuf:.— UI!“'()_'.‘E;JJ:L#;
3. What is data?Write names of its three types? ..uf?‘ ELrL—’"fcfd;l T.;.E»’ILEE 3
4. Define computer storage or computer memory, Write names _u.‘f’?‘ tﬁrlﬁlJ d;ﬂffxgr e g&ﬁf;ﬂ@)ﬁ*fg,{ 4

of types of computer memory.
5. Write a note on Hard disk. -u.‘.”ﬁn.::ﬁ.;.ﬂﬁ;} 5
D-73-010-A-400



*Tﬁi’ S.8.C-(Part-I1)-4-2017

|Roll No. o S2s? Mt PaperCode | 7 | 8 | 3 | 3
) Sessions; 2013-2015&2014-2016
. . *” },J/
Computer Science (objective Type) Group-I-os/ &) S
Marks: 12 Time: 15 Minutes &415:2% 12:/

A6z -yﬂ.f'r'f._,mu’-w_r;;:-fé.:nm,c.B,A;y;':.-,ﬁ;;&dfmzﬁ{q_gbf@gﬁfﬂfdmgm&;u:fr{?:.b)
) S e SRS e E LD | CB: A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
guestion with Marker or pen ink on the answer sheet provided,

1.1. The number of background colors available in BASIC is: :‘LJWHJJ}M!I._Q»?:’J.@ 1.1
(A) 4 (B) 8 (C) 12 (D) 16
2. Ctrl+Y is used for: e b ICtri+y 2
(A) Undo 25 (B) Find &/z k»3 (C) Pagebreak &/{4& (D) Redo £
3. On which the name of the document is displayed? ?f:‘;..t*:f;;tlé'{u{('l:b’_*.-vﬁi 3
(A) Status bar ;gu:ﬁt’ (B) Title bar ;I,J’ ( (C) Menubar £ (D) Standard bar slisi¥-
4. The diamond symbol represents the: : :.;;—_.J‘{qlﬁyuqﬁ;ﬂj A4
(A) Inputioutput 25T/ ! (B) Decision making (L.l
(C) Processing fesy (D) Remarks U4/
" 5, The maximum length of a variable name in GW-BASIC is: :..—‘;_JL,J;JLJLH:LJJ JHAS LISt 8 5
(A) 31 (B) 32 (C) 40 - (D) 45
6. Which of the following command continues the program whose J&.%Jﬁ,f-lﬂ{wﬂfgwf;u:‘_z it B
- execution was terminated temporarily? ?ff&;{y@ba"y,{f |
(A) Continue (B) Cont (C) Restart (D) Start
7. For...Next statement is used to implement: :L,g.?_fdlr'-'f’h:ﬁﬁ” For...Next .7
(A) Interation  2&51F  (B) Selection £/_E1  (C) Sequence &7 (D) Forallthese 2/
8. The end of while loop is: ‘e WIK_/While .8
(A) End (B) Stop (C) Wend (D) Next
9. In"If statement" false is represented by a: e bTNRE sl Srzy A2 IF 9
(A) 0 ' (B) 1 (C) 2 (D) 3
10. The types of array is/are: :L,"rrf'LJ"IJ.f_;r .10
(A) 1 (B) 2 (C) 3 (D) 4
11. Maximum number of elements per dimension is: | :%:!ﬁuy:,nwam&y..g 41
(A) 10 (B) 255 (C) 32767 (D) 55
12. LEFT $ ("Pakistan",3) =..... :L.....e ZLLEFT $ ("Pakistan",3) .12
(A) Pak (B) PAK (C) Pa (D) Kis

. 127-010-A- W



S5.5.C - (Part-IT) -A-2017
Rﬂll .NO. L-/:{.JJ;‘JI!..L-"T .} " {

Sessions: 2013-201582014-2016 e
COH]pllter Science (Essay Type) Group-l-..,,..a/f ~B1) w Y )"r

Marks: 63 Time: 2:45 Hours g 2:45:=% 63 :/:f
Section -I . 2x16=32 Sl
2- Write short answers of any six parts from the following. 2x6=12 -4 /_.-Lli/‘fﬁpt:ﬂﬁc.éf.;uflbbn -2
i. Define problem solving. -J/JfJJ’fLA.fJ’,L—' i
* ii. Define program. NSy AY I
iil. What is meant by problem identification? el Lf'/c..u"’éié:.’ il
Iv. Why is it important to specify requirements to solve a problem? “r_r" lu/ t/ub.:._..?u,w;:/u’ J‘Z.,.L#o'( v
v. Write down the method to run a program. _J/ /‘.n! }’Ka.. erf s N
vi. Write two rules of writing program in BASIC. c:.’g b’uf.e_"',(lf .fu"._f—* Vi
vii. What is meant by Keyword? ‘ S foL.LLFJIH/?J Vi
viii. Differentiate between variable and constant. -J/ULFLJ/’U‘H*JKHW viii
ix. What is indirect mode in GW-BASIC? Sl /Lf.»_-_m.f AL d3G. ix
3- Write short answers of any five parts from the following. 2x5=10 futl.?/""d:;l:?I@L:_J:f:.dJ;cJ: -3
i. Define ON-GOTO statement. /382 ON-GOTO i
il. Define control structure. _J/_d/’tf/ /J:/ i
iii. Write syntax of FOR-NEXT loop. ..u.:"’ﬁu’ﬁ/ K /FOR-NEXT iii
iv. What is 2-D array? Se e /2-D .iv
v. Write difference between simple and subscripted variable. u‘{}}u" &Idfm—}._-mluu RY
* vi. Write syntax of Array declaration. , -u:."‘{fa‘/ Kﬁ}:r_.;l Vi
vii. Why DIM statement is used in Array declaration? T%-aﬁdlﬁ‘"u:f % DIMy~ u"”)’/ir..xl Vi
viii. What is user defined function? S W~ sl Vi
4- Write short answers of any five parts from the following. 2x5=10 ¢,‘.{ /‘H@lﬁ/‘?ﬁpiilém.(jfa.tﬁd;bu -4
i. Define Color statement in BASIC language. -wa/’JJ/K COLDRu‘ C;@._C»J "
ii. What is the use of PSET statement in BASIC? ﬁ:.drdbw‘fi _w-‘-” PSETUALx i
iil. Write the syntax of CIRCLE statement. -u’/':f/ u./-?’ CIRCLEJ':/ i
" iv. What is meant by formatting in microsoft word? Tl /l_f‘/:_.._ﬁ-‘;bu’m_ﬁwxcl AV
v: What is meant by standard toolbar? s /Lfc..;l.d:‘yw V
vi. Define word processing. _u’ _;;/’J_ﬁwum Vi
vii. What is meant by font in microsoft word? el P ANy T
viii. What is the use of clipboard in microsoft word? “g_db»-*lbfﬁ’j;fJu‘m._ﬁwa Vi
Section -I1
Note: Answer any three questions from the following. Tx3=21 ..q);« /LLIFZ_'._- !ll.ruﬂ:..(jf J’_ s ¥
5. Define flowchart and explain five symbols of flowchart. 07 -V JM:J.,L&CLJH;H’;;I "J_.f.:b:ﬁ D
6. In how many modes, GW Basic can be operated?Write briefly. 07 _J/':ff/‘; ‘LCCI.?LUPJ Jise Lﬁvﬁ:d .6
7. Define control structure.How many control structures are 07 "wf /J.a/dr u"...f—v_J):n-'/’J/ /Js/ il
available in BASIC?Write in detail -Jf
8. What is meant by numeric function?Explain numeric functions 07 J/:’A_f:grdwlu‘_@“c.: e ..J//! 8
used in BASIC. S ooy [0
9. Define color statement, write syntax and explain with three 07 -;jf 5 I:.:,uﬁb-w;ﬂu"ﬁu’ﬁ’ J/J/JM)’/
examples.
Section -III  (Practical ) (Jf ) (v
Note: Answer any two parts from A,B and C. 2x5=10 () .&f::fl-l? flJZi:::.ljfc..;ﬂZle__nJl W2y

10-(A). Write a program to input three numbers and print the largest 05 o ;_-;mr:../g,.-_.uu/&,&u/ j’:f"lf zJ (.10

number among them. * Sl e
{B). Write a program to print even numbers 1 to 10. 05 _e_,f..f,f/._j?uv,uiwghﬁhfg h .f...f _(._.,)
(C). Write a procedure to find and replace text in MS-WORD. 05 2% PR S il i e EMS-WORD -(C/)
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- | Roll No. e St PaperCode | 7 | 8 | 3

. Sessions; 2013-2015&2014-2016

: . : v 5‘*‘(
Computer Science (Objective Typo) Group-I-s/ () U sy
Marks: 12 Time: 15 Minutes <4153 12:4

AU 38R .:..-wh_.,'i;f;.,muf':mgié.;DJJJ,C,B,A;-,@,M;,%LJW&,@?;Q Vdfﬁu%sf’&ifﬁakfﬁd:u:mfrﬁ:&;

. ' U e GBI 3 s LD | C,Be A 572 1L

. NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.1. The process of finding and removing errors in the program is called. -;.t'MIJf K_/ F’ JFL/JHF'/UJ::"EJ}::”J(U@ 1.1

(A) Debugging 153 (B) Compiling
(C) Coding o £3f (D) Desk checking £ (3
2. G.W BASIC can operate in: -‘L&cfﬁf;{ﬁ@g-x&j—& 2

| (A) One mode 3] (B) Two modes Jiv (C) Three modes Jiv./ (D) Four modes i3l
3. Which short cut key is used to run a program in G.W. Basic? ?.:‘:_d:fdh"*lgf.bﬁutiu"fgi.Ugrf/r:{df-ﬂ..f-ﬂi-d .3

(A) F1 (B) F2 . (C) F3 (D) F4
4. The types of control structures in G.W. Basic is/are: -ugrﬁr&%ﬁb}-‘@f»@r-ﬂi-& 4
(A) 1 (B) 3 ©) 5 (D) 7
5. For...NEXT statement is used for: :ugl_)UhHu.ﬁf’ For..NEXT 5
(A) lteration #frf/‘: (B) Selection é_;’l_..-&r"'l (C) Sequence r#;f} (D) Logical error g;fdg’-ﬂ
6. Which of the following is not a logical operator? ?.T_ﬁ,gﬁﬂ%;fwfc_uid_‘j&u 6
(A) AND (B) OR (C) NOT (D) NEITHER
" 7. The types of array is/are: :ugrLi!'fJL"ﬂ iy
T (A) 1 (B) 2 (C) 3 (D) 4
‘8. An element of an array is mentioned by its: | :£Jfb_r;£_):¢t£fcf:£.¢_;u§ .8
- (A) Subscript .:;..af,/’...«* (B) Array «_ /I (C) Object otz (D) Name of element :;.rt[_ug
9. Afile can be better organized in___way/ways: _.?..6‘: LyJJjjﬁ&-L}:@/f’f.E)__Jﬁbg 9
(A) One (i (B) Two (C) Three f (D) Four
10. The number of background colours available in BASIC are- :.—;_:W"@)fi:flfuﬁ;ﬁru:._@r .10
(A) 4 (B) 8 ©€) 12 (D) 16
1. Which of the following click is used to select the paragraph? S bW IV St 5mdd . So i 11
(A) Single - (B) Double (C) Right w71, (D) Left o/
12. Shortcut key for Bold is: e (Key) S/ ey 12
(A) Alt+B (B) Shift+B (C) Ctri+B (D) Ctri+Shift+B

129-010-A-3%
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Roll No. r'_/".i;.!.-r"".zl_!yi
. _ Sessions; 2013-2015&2014-2016 o
. Computer Science ssay 1ype) Group--cs./ | &0 J L‘/)ﬁr
~ Marks: 63 Time: 2:45 Hours &% 2:45:=5 63 : /¢
Section -I 2x16=32 Jilo

2- Write short answers of any six parts from the following.
i. Define programming.

—

lii. Write down two limitations of flowchart.
- iv. Differentiate between Flowchart and Algorithm.
v. Write the method to save program in BASIC.
vi. Differentiate between KILL and STOP command.
vii. Define variable.
viii. Write the names of different logical operators.
ix. When and who developed the BASIC language?
3- Write short answers of any five parts from the following.
i. Define loop.
ii. What is called the unconditional transfer of control?

iii. Write the syntax of IF statement in BASIC.
iv. What is subscript variable in an array?
v. Define the 1-D array.
* vi. Write the use of DIM statement in an array.
vii. Write two uses of an array.
viii. What is a subprogram?
" 4- Write short answers of any five parts from the following.

I. What is the use of LINE statement in Basic?

= ii. Write the syntax of Circle statement.

in. What is meant by Resolution.
- iv. What is the use of Draw statement?
\. How would you ltalic the selected text?
vi. What is meant by Auto correct?
vii. What is the difference between bullet and number?
viii. What is the use of Alignment?
Section -II

I Is there necessary to know about syntax to solve the problem on computer? ?.g_d;;ﬁt:tgb’u‘@"#’ .Z..fd’.t'-q}&r L i

2x6=12 -Efgfjﬁglﬁf?ﬁrlﬂlfa.{jfauﬁdjbﬂ -2

SIS pS Sy

el d i
-J/L‘)E:J/.u:(iﬁmﬂf—‘dk}ﬁ AV
Uy )’E'i_)l*ﬁ*i}:;d-'& v
SISO SN )S’tnpi(,}i('iil Vi

SIS P82 i
L A i
Woleli Sl e ix
2x5=10 déf}akmﬂ?ﬁrlxﬁ/&:—é{;pﬂdjau -3

e slpleod i

Sl s 6 i
AT R
?;f_.;f/huld—d"'fdﬂdq/cf._#u:a.{l v
?::‘:_J!fkrd;.-f.-“ﬂ"l-D V
SIS DIM e /1 i
= :JUL'}!JJLL-_JI Vii
Se sl (Uifor vii

2x5=10 - 28 felin A iibhe e Ut it -4
S S (LINE) I i
- 522 CROLE) S i

S sl e Sy i
S Ji1L] Fssctt (Draw)i/5 .iv
Ly /Bt e 5
?;;_:Lxl_;f.;.:ﬁﬁf Vi
e G Al vii
e JE KA viii
%3 ar>

Note: Answer any three questions from the following. 7x3=21 ...q:):_f ;Ll{?s’_’amrcfg_tjf:.ddjaﬂ W2y

5. What is debugging?How many types of errors can occur
in a program?Explain.

6. What is constant?Describe different types of constants
in BASIC.

7. Define selection structure.

Write a note on IF-THEN and IF-THEN-ELSE.

8.. Define Numeric functions and write a note on ABS and LOG
functions.
9. Define graphics and write a note on Graphic modes of BASIC.

Section -III  (Practical )

07 ?ugéﬁdf:}qu:rﬂfu{)fr‘fj{?‘;_ krﬂ:_ﬁ D

oo

07 LJLLMK:C(LEIJE;J#?%J{‘A{L&#{ 6

S

07 . SIS T

s IF-THEN-ELSESIIF-THEN

07 ..‘.-:?._'{u/'lgLOGJ:fuéﬁ‘ABSJJIL{/i@/TJ)ﬁE’;{:{f 8
07 _u:’g_u?{ﬁr._ﬁ' I/Q’Z..,Qw:u/-é'/""u(ﬁf 9

(J") V>

Note: Answer any two parts from A,B and C. 2x5=10 -L{)};@Uﬁ rlzl.u.:..(jf:.ufbahfn_ﬂl “y

10-(A). Write a program to calculate $quare of a number in BASIC.
(B). Write a program to draw a triangle using DRAW statement.
. (C). write procedure to insert header and footer in MS-Word.

130-010-A---
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Roll No. o Sls s ant PaperCode | 3 | 8 | 3 | 3

) Session;2015-2017&2016-18
oS
. . : 5

. Computer Science (Objective Type) Group—l-.?x:/f (53) u-" V/g_‘.}{

Marks: 10 Time: 15 Minutes &15:3 10:4

/,‘Ulru'i_;qK(__}fﬁtuff—:#fgjﬁff?iﬁffﬁéfé_JDm,C,B,A:—Lfﬁjxgﬁdlrﬁﬂqfdf;?ﬁ/’fdjaLf.s?f.mﬂffrl?h.‘.-;

= S e GBI I 3e SusED L CBAzELL

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. We can draw more with the CIRCLE statement: :@éafﬂaﬁCIRCLE ik
(A) LINE /I (B) Box | (C) Elipse S (D) Pset 22
2. Which one option is not in edit menu? - Qs LIS S S s 2
(A) Undo  sjuf (B) Redo i/ (C) Find X6 (D) Font 7
3. Algorithm is a: L Al 3
(A) Reguirement document foliﬁa_.ryﬁ:w/" (B) Design document wxﬁhﬁ:{,i
: (C) Test document o142 (D) User Guide 6.y
4. [___] symbolfor: e e 4
(A) Processing £zs; (B) Decision (Sil-de! (C) Input o (D) Start =i
5. In GW-BASIC program begins with: bl Sl Seesk3 B 5
(A) Colon ¥ (B) Line number %/l (C) Comma L (D) Underscore &kl
6. In GW-BASIC program ends with_____statement: :{_t'm:.ﬁ-?__r'f'ﬂb'ﬂ)j{ut\.@:ﬁd 6
(A) Stop & (B) END X! (C) IF (D) AUTO 4T
7. Which one of the following is a multiple branching statement? ' ?%ﬁ_.l?lz&dujfc-ufd:j@ﬂ 7
(A) IF-ELSE (B) GOTO
(C) ON-GOTO (D) ON-ERROR GOTO LINE NUMBER
8. ONE dimensional array consists of; :.:-_.t':fJ‘j’ 5L .8
(A) One Row one Column  A6{L5.(] (B) One Row two columns (5]
(C) Two rows one column HL@M» (D) None of the these (e i
9. Which one of the following is not valid subscript? ' ?;:’_uf:.f.f_;/ﬁl..fwﬂbu}}(uﬁziﬁm B
(A) NUM(10) (B) A(2) (C) B(4) (D) A(-2)
10. ABS function returns____ value: :+Jﬁd‘b;41‘_;g'ﬁﬁss 10
(A) Integer mzjf (B) Absolute J‘J‘&” -(C) Numeric J;.-:r (D) None of these ufJf;Jc;r
49-010-A- 3 W
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Roll No. r_.r’r:’{.u:’..*f!..gf‘i'

_ | Session; 2015-2017&2016-2018 ,
Computer Science esseympe)  Group-T-gs) 20 (J” Lf/z_ﬁ.{

Marks: 40 Time: 1:45 Hours 25 1:45:2% 40 : £
. Section -I 2x12=24 dilﬁb
2- Write short answers of any four parts from the following. 2x4=8 ..a_i:ffagiﬁjgﬁfizl;yc,d’faufijéﬂ -2
i. What is Runtime error? ' ?:%“ngiftux i
i, Explain flowchart. S o losfe b i
ii. What is meant by program? Sesl Mg i

iv. Explain debugging.
v. Write modes of GW-BASIC.
vi. How is a program loaded in GW-BASIC?

Sl S S v
-L,f/;jjjf.{:...f_:p;’:jﬁ v
S I3 e L3 G i

3- Write short answers of any four parts from the following. 2x4=8 -E:_,_‘?f ;Llﬁﬁ?ifu‘}'bk:—&é-ddj&lfi -3

i. Write down the purpose and syntax of GOTO statement.
ii. Define control structure.,
iii. What is meant by Menu Bar?
iv. Define word processing.
v. Explain the use of clipboard in word.
vi. Explain the use of Dropcaps in word.

S K GOTO
E G i

S sl e g il
_L,f/n_é’/’?ur..ﬁ:‘.!{jﬂ iv

iL,:/M L}}JJV}Jijﬂ:Jd‘:jﬂ V
_L/:./":#?LEJL,(JWIL ﬁ;b.ﬂjﬁﬂ Vi

4- Write short answers of any four parts from the following. 2x4=8 ..".I_j".:..l,,Le/"""Z.pI;‘.'U'I_.g:ﬂ&'::dlji'd_'.ib;.s' -4

i. Differentiate between simple and subscripted variable.
fi. Why do we use DIM statement?
ii. What is a built in function?
iv. Write the use of GOSUB statement.
v. Define Pixel.

vi. Write the usage of SCREEN statement.
Section -1l
Note: Answer any two questions from the following. 8x2=16
5. What are logical operators?Explain different logical operators
with examples.
6. What is loop7Explain FOR....NEXT loop with syntax and program.

7. (i) Explain Screen modes.

(ii) Write the purpose of ABS function.
20-010-A----

ISV -o e =/l i

St S A DIMA i
x:.;.mt,,@"—'ﬁun_q. i
_ 2 )ik ¥ GOSUB iv
-U.’{'LEJ/UJ’E RY
_g{JMKﬁSCREEN i
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- Computer Science (©bvjcctive Type) Group-Tl-os (&) J s
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/:}L/‘IFJL;QE{QLE: - ‘yzﬁfoffﬁu}*:Lﬂﬂ:‘”—ﬁé_:DJ:f,C,B,Aa@'ﬁ;@kt’idfﬂq 2,;”%4 KL}IJZU:@/”JTSJ&UJ?Z.& Uffr‘{}:u.‘:.-;
2 | ' U e GBI I3 S sIED | C.Be A 2L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B.C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. On colour monitor, screen modes are: ?u:?l-ﬁjfc{/é{}f:‘/g Al
(A) 2 (B) 3 C) 4 - D) 5
2. Which shortcut key is used to Bold text? T:;_&ﬁdWIJ_tfth‘;uifg é.):ﬂ:f:@l;f 2
(A) Ctri+A (B) Ctri+U (C) Ctri+S (D) Ctrl+B
3. BASICis a: Lo Lx .3
(A) High level Language éﬁ"’d;ﬂé} (B) Assembly 1
(C) Low level Language é.@dﬁgf (D) Machine &
4. How many possible solutions are there for a problem? Tpﬁéﬁfdﬁgﬁg\.g 4
. (A)One (B) Two & (C) Three o (D) Multiple (1§
. 5. A variable name must start with a(n): :&lbal s ALK skl 5
(A) Alphabet (37  (B) Underscore #~%  (C) Comma L¥ (D) Digital 4
- 8. The shortcut key used to run program in GW-BASIC is: :;:-_.Jﬁdb?rd’.:/f’_wlﬁzj;ri_ Ugr‘l):_;u:u@::;%j& 6
(A) F1 (B) F3 (C) F10 (D) F2
7. Maximum number of elements per dimension are: !L{fr-f:ﬁ'u't};_upc':ﬂi»ﬂ 7 4
(A) 10 (B) 32767 - (C) 255 (D) None 4
8. Z(2,2) is an example of dimension. — :c:.'._dﬁ’d,d_ﬂ uﬁiﬁZ(z,Z) .8
(A) 1-D Array (B) 2-D Array (C) None (D) Allthese Ui
9. Which statement is used for unconditional transfer of control? ?;;_Jﬁdb‘biﬁu’;(gﬁjiﬂjﬁjéd;}r 9
(A) GOTO (B) ON-GOTO (C) ONERROR-GOTO (D) None 1y
10. Which functions are provided by the Basic by default? . a&wuﬁﬁ.&.;ﬁ_ﬁ; 10
(A) User Defined (B) Standard (C) None (D) Both (a) & (b) U4

51-010-A-3C 3%
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Section -II
Note: Answer any two questions from the following.
5. What is constant?Describe different types of constants in
BASIC language.
6. Define and Explain FOR....NEXT loop.Write syntax also.

7. (i) Write the difference between user defined and built-in function.

(ii) Write the purpose of SQR function.

52-010-A----

8x2=16

33 D

Ui

_ufgLﬁJl;%{/&?&mfn_éﬁij'FDr...NEXT

AR sy )
U2 6P SR i)

_ Session; 2015-2017&2016-2018 G
o b
Computer Science essaympe  Group-lines/ (&) J s
Marks: 40 Time: 1:45 Hours £ 1:45:=3, 40 7
Section -I 2x12=24 d.';l,.b
2- Write short answers of any four parts from the following.  2x4=8 _é_éf.:fLlﬁﬁ?.{:ffz!;_:bc.éf.:.btd’jba -2
i, Define flowchart. Ceslple2bb |
ii. What is RUNTIME error? Se APt i
iii. Describe debugging. _u_‘/...é,ﬁnfﬂdj i
iv. Define algorithm. _Lg_’/._g!ﬂfﬁ;ﬁr v
v. Write down the characteristics of IDE in BASIC. Hufﬁa"ur":JIpEJ._,Qe v
vi. What is the use of F4 key in GW-Basic? ?ﬁ;dw-g%’u‘ﬁ F4Us L vi
3- Write short answers of any four parts from the following. 2x4=8 _&_,-i:f/".:«yﬁ/‘"'&m;g.ﬂ_éfa.gﬁdﬁaﬂ -3
i. What is the purpose of unconditional transfer of control. P s Pl o
ii. Define loop. PSS i
iii. What is the use of print view? S ok B Ky sy i
iv. What is paragraph formating? ?;.I:.:Lr_lf::, ﬁxﬁ..ifj,«_?_- v
v. How is text made bold? SR SUSS S
vi. Write down the method of closing document. _ufg,‘alﬂ/blfé.&\_‘.&'z.'/li i
4- Write short answers of any four parts from the following. 2x4=8 -éf&&lﬁﬁiﬂzf}kééfﬁ-ljij@ﬂ -4
i. What is meant by element of an array? ?%;Vlﬁ:.zﬂﬁadzl A
ii.—What is the purpose of DIM statement? T%MHJKJ?DIM i
iii. "Define subprogram. _.;_,'J:f_.y/"grl/'j{..,.w i
iv. What is meant by PSET? ‘sl PSET .iv
v. Define pixel _L,:/...yj""JJ"-“r V
vi. What is meant by text mode? ?.-;-__:I,xga.jr.b—.f.f Vi

_p:);ffabfﬁéaﬂiﬂﬁc- Jf::.. u:djﬁ;.u O
* ﬁJ&#s’u:E,,@_ng.;yyﬂ;Mﬁ B
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(For all Sessions)

Computer Science  uilu ﬁ_,__.e..f --------------------- (s s
‘Paper-ll (Objective type) ( J)u:‘}/’)li:,g{ ______________________ (LusE) s
.Time allowed: 15 minutes Lt 1500y -__-__-_..-i__-___:Efg/f;bf;{q{d!ﬁil
"Maximum Marks:6 61/:;(}‘/

_________________ Aot

_Ejfﬂfrjhﬁ?fﬁfﬁlpﬁfl‘z‘g/;s b- %’g& bl &L@Gﬁ:{g{dlagfﬁﬁ u;’iw:f/t}JulJ;'
L bUFAL QK inlne,

2 BNy eontiLie S L sl l Jivy A

Processed data is called: el s nd Uy ()

Output ;2357 (C) Data U} (B) Information 2! (A)

Data that consists of Alphabets: 1ﬁﬁ;ijfﬁf«,5le (ii)
Alphabetic Data &3l (C) Alphanumeric Data i,‘:LffﬁLEJf(B) Neumeric data LEF.J;:.‘::'(A)

’ The smallest unit of memory is: ‘e LS e K | (i)
" Kilobyte 418 (C) Megabyte A€ (B) Bit . (A)

. One byte consists of: :g_tmdj'a:ﬁ’g‘.{f (iv)
,Ut 16 bits (C) LU 8bits  (B) £UF 10 bits (A)

A secondary storage device is: e TGS e | (v)
Hard disk {331 (C) RAM (% (B) ROM s/ (A)

Nibble consists of: :‘g.rﬁf/df (Vi)
£U™ 10 bits (C) (U™ 4 bits (B) LU 8 bits (A)

D-72-10-A-400
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Roll No. o Ssp M (For all Sessions)

Computer Science
;’apcr-ll (Essay Type)

‘T'ime allowed: 1.15 Hour

Maximum Marks:24
- (Part-1  Jil2)
Z~ Write short answers to any seven questions from the following.2x7=14
i. What is computer storage or computer memory?
ii. ROM is abbreviation of what?
ifi, What is bit?
iv. What is Nibble?
v. CD is abbreviation of what?
vi. Write names of any two memory units.
vil. How does computer store data?
viii. What is Hard disk?
ix. What is Alphabetic data?

X. One mega byte is equal to how many kilobytes?

( Part-1I (222 )
Notc:Answer any two questions from the following, Sx 2=10
3. Write a note on Hard disk.
4. Write a note on compact disk.

5. What is data?What are types of data?
D-73-010-A-400

St
GALEDN 24
251,15 1

24: /Lf

-#ﬂ @L.lﬁﬁyémﬂlrmbfngf:.gﬂd 3o -2
S YUt \Gotud
‘e ¥ ROM i
fe U iii
e UF v
‘e ¥ CD v
_u:"?'l;iu'*'._;jd;yfua-tj/ Vi
S t/EIL A i
S L35 viii
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Roll No.

Session; 2014-2016
Group-ll-..,:..f.s/f
Time: 2:45 Hours &5 2:45:25s

COmPUter Science (Essay Type)

Marks: 63
- Section -1 2x16=32
2- Write short answers of any six parts from the following.

i. What is meant by top down designing?

2x6=12

J3lo

vLJ;"Lvri_-\..»C"IIJLJ}IH_JB

(28 u)u"'l/;/

63 : /7
éf._au.?/"!‘[_,flflﬁ'c;d;&pﬁubbﬂ -2

ii. When is syntax error occured? ?ai..bﬁdu.‘);;l&"l.« i
iii. Define an Algorithm. WY ACA R
iv. Who and when was BASIC developed? *LLJ:IL_J?..L v
v. Write the procedure to run a program in BASIC. o 5 ,.d}’u ,_fwj?lf!wb& v
vi. Define INPUT statement. «._s’jJJw"":...ruI Vi
vii. Differentiate between NAME command and RENUM command in BASIC. d‘gu/u"ﬁL(RENUM;:uLfNameJ_@ Vii
viii. Write any two symbols of relational operators in BASIC. u“"ju”!k&;ﬂfﬂ::j(}fuhﬁ* Vil
ix. Write any two guidelines for drawing a flowchart. u‘dgfﬂk %Jdufcﬁ’a..fufnu;wﬁ X
3- Write short answers of any five parts from the following. 2x5=10 ;@fr/_.,Ll!ﬁf{:;vl(/,L;.df:;.gﬁngu -3
i. What is meant by control structure? “c'--*/b(c;ﬁ//d:/ d
i. Write the use of Goto statement in BASIC. _JﬁfJWIKJGGtUJ'& Ji
iii» Define the loop. SIS P i
iv. Define the one dimensional array. _;_,Vf....d .:_.xfur..f v
v. Write the syntax of two dhnensional array. qurf e N5 v
vi. Write the use of DIM statement. _u:‘jdv"ftﬁ..w:""DFM Vi
vii. How does an array differ from simple variable? "‘c,l:'r._.r-u'c‘.(:fﬂ"uw_ﬂ_f I vii
viii. Write the purpose and format of FIX function. _uf’g._.f.:b.uiﬁf"b’ FIX .viii
4- Write short answers of any five parts from the following. 2x5=10 ;ﬁ{/uu.?/‘fl.piﬂétc,dfc.(,ﬁt}:@; -4
i. What is the use of text mode in BASIC? S YUK A LU Gy
ii. What is medium resolution mode? T e s -’Lﬁ-fuzfy i
iii. Differentiate between DRAW and LINE statement. /TGt 2 LINESIDRAW i
iv. What is the difference between DELETE and BACKSPACE key. “c_u}lfu"d/BACKSPACEJJIDELETE v
v. Write shortcut keys for CUT and COPY. ,ufU/JuJVJCOPYufOUT v
vi. What are headers and foolers? “:_:/b.:.;x %bu.—— Vi
vii. Define Indentation. iJ/ubbﬂ/JJ(ldentatmn u"ﬂul Vil
viii. What is meant by Drop down menu? (-::F'._Jf/_br:.r“u,sf.u;fn iii

Section -II
Note: Answer any three questions from the following.
5. What is the debugging?How many types of Error can
occur in a program?

7x3=21
07 "'J‘ér@lwfl;.f:rL—-’FJru"ri/ff .CZ-JLr"LrC;"_-ﬂLsJ

A0 >

-Jr7 fulfgﬁwm}”w;dl{&btdjbﬂ WLy

6. What are the relational operators?Describe the use of relational 07 M;Ui;*fiﬁﬂﬂﬂg_ylﬁ:,ﬁﬂf:&; 6
operators in detail. Hq/uyc_

7. Define While...WEND loop.Write a program to print first ten odd 07 ;:Ufh.nfo_a’WHiLE WEND .7
_ numbers using WHILE...WEND loop. Sttt & s 2 S JWHILE.. WEND
_L,J’/':’fr'l/rfgﬁ.fu_ff

8. Define the following 07 iJ/_ﬂ/JJ;@; 8

* (i) Sub Routine (ii) Data Fields (iii) Record (iv) Characters
. Define PSET statement.Write a progrmme to draw a square
using LINE statement.

Section -III

Note: Answer any two parts from A,B and C.

(Practical )

2x5=10 -J /7 fe I

550 a8 (iv) 8. (iii) SIS (i) u”;;.__,w (i)

iz_bd/..fg.f.»’_fdt-ﬂ

WH o

07 S LUINE2U=bLS i S e PSET 9

2 (e LB slnd 219

10-(A). Write a2 program to find cube of a number. 05 _;J?P’JEC}JS?L{);}%J)?{Q (.10
(B). Write a program to draw a triangle using 05 2wl S DRAW _(._'_,)
DRAW statement. ig_b._.hliu?j"or"lff
(C).(i) Write the procedure to check spelling and grammar. 02 u""ﬁ!}’b /...G/!f;f_ﬁ«* (i) -(@)
(i) Write the procedure to make text italic,bold and underline. 03 /7 A6 S ks i f g (i)

130-010-A-__
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2 AV A AR Mﬂfﬂrl__afﬁu’.:cgﬁ’é’fé_;DuI,QB,A.:Jl,iﬁ}@tlgdidl:m&_fi‘db’qfﬁ S Eoevzl e tvrling g
' S G LN 3 S usibED | CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. Normally the computer monitor screen is in: :.:'_Jﬁc{}(f}ff}géxfrb i
(A) Graphic mode 43 l1) (B) Textmode (tire b
(C) Color mode Jir‘/{' (D) Printmode  Utirey
2. Ctrl+C is used for: et JWICHI+C .2
(A) Undo 233 (B) Redo 27336/ (C) Copy &/U¥ (D) Paste 2/
3. Which structure key is used to make the selected word bold? ?q_J/C‘Jsfﬁﬂ..ﬁ;JJMlﬁUi( 3
(A) Ctrl+Shift+B (B) Shift+B (C) Alt+B (D) Ctrl+B
4. The symbol of diamond used in flowchart is: :.-;_aﬁdh“lymﬁffjbf@.:g:ﬁ 4
" (A) Process U¥ly (B) Decision (il-le} (C) Input . (D) Output o237
5. In BASIC the loading program shortcut key is____: _%JJ».L—;L‘}JJ i.sfrf/r:..;uﬁ...ﬁ,;: 5
T (A)F3 (B) F4 (C) F2 (D) F1
‘6. GW-BASIC can operate in: :;,E;_L?C/:.:,;T..L_rﬂjd 6
(A) One mode 3Ll (B) Two modes (i
*  (C) Three modes  (2i3ef (D) Several modes (il
7. The kinds of control structure in basic are: :L;g(L'J'IJ/":)-JJj-'@L..Qf 7
a1 (B) 3 (C) 5 (D) 7

8. The loop within an other loop is called: :;;_@M.r:b,cré__:.-:’ 8
(A) Nested loop #/x# (B) Inner loop /041 (C) Difficultloop % (D) Infinite loop s

9. In which control structure is used for decision? s:.,_‘-_wng J_/Jﬂ.éﬁ: /’fd.s)-'f Lifa.u: Jitsn .9
(A) FOR (B) If...Then...Else (C) While...Wend (D) Nested loop

10. The types of array are: :;,grLﬁfJa._..«l 10
A5 (B) 2 () 3 (D) 4

11. Maximum number of elementis per dimension is: :‘g..Jiﬁa;Lja.uJLJJyK;r[.wﬂ_ﬁ 11
(A) 10 (B) 255 (C) 32767 . (D) 268
12. To read information from a file it must be opened for: :%!;L'ch_.lga:;abbﬁ;fﬁ 12
(A) Input o (B) Output sz 287 (C) Process Ul (D) Record 38

127-010-A-Y W
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Marks: 63 Time: 2:45 Hours &£ 2:45:% 63 1/
" Section -I 2x16=32 Jil o

2- Write short answers of any six parts from the following. 2x6=12 cé':*/_. Iﬁ/ﬁﬁpiﬂﬁc.dfc.dbhou -2
i. What is meant by problem solving? ?L;yl,f;_,ﬁf.&f A|
i~ What is meant by problem identification? *‘:..:vb@_u"ZE R
jii. Mention errors that occur in computer program. u"?‘tiuﬂc!_.lm. ru’rlefxy/ Al
iv. What is meant by documentation? “‘a-_:/bf';:.u‘y:(: v
v. Who and when was GW-BASIC developed? e dtei_ e GW-BASIC v
vi. What is the purpose of NAME command? ?q..ﬁ“i:'f U NAME .vi
vii. Write two advantages of BASIC. ._;-@“’ 199 _Cx Vi

viii. How is BASIC program saved? Ec’__t'L?LIL}Jé;F"/fJ* Viii
ix. Define the direct mode. ﬂu’f;..dﬂf»'urzl JAX

3- Write short answers of any five parts from the following. 2x5=10 _éffuLlf/‘iﬁf!_?ff;LLdf;-bﬁJJ@: -3
i. What is the difference between FOR...NEXT and While...Wend loop? *‘;:.u/b@‘u: While.. Wend.s/FOR...NEXT .i

i. What is meant by IF...Then statement? '?r_:ybf.:._,flf: THEN ii
ii. What is the difference between Loop and Nested Loop? ‘*.ﬂ—_a_)}tfu‘u:fwul._;ﬂ i
iv. How is it possible to access elements of an array? “L.JQJLJL—;JLJK:ILL,JI v
v.*Why do we use DIM statement? ?L,'”L./JL“’M:’(MD[M{ V
vi. Write the method of storing string variables in an array. _u.f’g.u}ba_/rwls.f Ueemdl Vi
vii. What is meant by array manipulation? ELJfLF(C.-U{.{ﬁJL_JF Vi
viii. Define Random File. VS YAV IS IR
4- Write short answers of any five parts from the following. 2x5=10 wéfﬁf@lﬁﬁ?&Frflélrd'_-d;ﬂ-uf(f}c-ﬂ -4
i. What is use of CIRCLE statement? ?.:_UUWIBJCIRCLE k
i” What is meant by Resolution? “L:/Jagﬁ’:ﬂ i
iii. Write the syntax of LINE statement. _JJ:rfu’drKJLINE Jii
iv. What do you know about MS-Word? . St YTt L MS-WORD .iv
v. Write shortcut key of cut and copy. u‘”gJJHJ[/Jd Ent v
vi. What are footers? Sl wllitd i
vii. How text is made underline in MS office? *‘f:.t'labfbfﬂmibﬁﬂufﬁu"u’ uJI(I Vi
viii. What is the advantage of Autocorrect? “.Ll/a,a- bKJJﬁT Vil
Section -I1 43 >
Note: Answer any three questions from the following. 7x3=21 -u'):r'/...- Llfﬁuﬂlfufc.d:(c,u*JJCﬂ
5. Define flowchart and draw a flowchart to find the sum of 07 A./?:J”m;fbﬁwfduiljv éi;:U/r...ﬂ/’Juxlnb 5
first 50 natural numbers. --’_L-_—J[HE
6. In how many modes GW-BASIC can be operated?Write in brief. 07 cf’UW?;;LCbLLbJu:’d:fGW BASIC .6
7. Explain IF...Then...Else statement. 07 _J/_JLJJJJIF .Then...Else .7
8. What is Numeric function?Describe any three numeric functions. 07 _J/uL—u"GJ/n,ﬁLdﬁa.bfuﬁJ/m 8
9. What is meant by Graphics?Write the graphical modes of 07 1:LaLCrlbﬁsv‘Jlf;.&)dfu*H“c_Jfbﬂ;Jff 9
displaying data in detail. Bt o .:-_.J"'”"‘r_
Section -II1  (Practical ) (J’ ) (v
Note: Answer any two parts from A,B and C. 2x5=10 (7 A URL M T e Lol 12
10-(A). Write a program in GW-BASIC to find the square 05 LTS S B poses UKk 35 (.0

of a number. ﬁ‘?‘iff
. (B). Write a program to draw a rectangle using LINE statement. 05 é(f(ffoA_bJﬁM;fL/JWIKJJU ()
(C). Write the procedure to close a document in MS-WORD. 05 _ﬁn;}&./mfm{huimd 1 (@)

128-010-A-___
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. Algorithmisa__ document: :r{..wﬂi___h{’fﬁ:m 14
(A) Infinite (b1 (B) Design cfr:;'j (C) Direct ey (D) Program (f/f.g
2. Extension of a BASIC program is: e Sy 2
(A) .DOC (B) .Xls (C) .bas (D) .JPG
3. Which key is used to load a programme in BASIC? e G ST Syt e 3
(A) F1 (B) F2 (C) F3 (D) F4
4. Which one is not a logical operator? e k20 4
(A) AND (B) OR (C) Neither (D) NOT ,
5. "Which control structure executes statements in order. 'E':i;t'ug.:..,;;}fﬁjfd:}fﬁf .5
(A) Selection Lz (B) Sequence .~/ (C) Loop .,_,u»' (D) Rep?titinn d?%-d;
6.° How many types of loop statements are used in GW-BASIC? ?L{;JKJL‘;"JM/:;J}JJPL?D:-QY{:H& 6
" (A) 2 (B) 4 (C) 5 (D) 6
7. In an array the value of first index is: :.1;(3:«7%;&_{5}!2;;; Lo S 7
*(A) 1 (B) Zero C) 2 D) 5 &l
8. Maximum number of elements of one array is: :z:-_Jﬁjfﬁp(u%!p;p;n:gjcﬁc_.ﬂ_{l .8
(A) zero (B) 10 (C) 255 (D) 320
9. Numeric functions are based on____ values: e rﬁ{iﬁ:____ﬁubrﬁfuiﬁ;f/fﬁ 9
(A) String £+ (B) Numeric 24 (C) Character #<G,< (D) Al (U
10. The number of background colours in BASIC is: T :lﬁﬁ%ﬁiijyﬁ:ﬁ:’uﬁ_@ 10
(A) 4 (B) 8 (C) 12 (D) 16
11. Ctrl+y is used for: :;:;.Jﬁdb'z"ICtrH-y A
(A) Undo &Ll (B) Redo & L33, (C) Search ZL ¥ (D) Pagebrake L Lizy
12. Which bar provides information about application software? fe J[kfﬁ.ﬁ&”{,}:c‘_igLﬁjdjbﬂd&fu[:l}{:‘( A2
(A) Menu bar L (B) Tool bar .:LJ:” (C) Status bar ;Lu:'fl' (D) Scroll bar ;I,J.u(‘
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YA @kg 5.S.C-(Part-11)-A-2019

Roll No. e S8 Mk (For all sessions) PaperCode | 7 | 8 | 3 | 3

Gmup-l--,;:f

Computer Science ©objective Type) @) U L«)g.’,(
10:

Marks: 10 Time: 15 Minutes &#15:=3

A2 e W2 Pt £ 2D C B A=z L vy a:fq;qb’qrgu:ﬁ/fdmyzé_—,mrrw:e.«:’
-L{Jﬁ":.Lﬁ_l;-wa"l:/:LLﬂJw.:,ufUJFIJLD L CBAjsze L

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
" question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. On color monitors types of , SCREEN modes are: :q;(u"r&ﬁrSCREEN{JEwK 1.1
(A) 2 (B) 3 (C) 4 (D) 5
2. Which of the following bars provides the inﬁ::-rmat'inn about ?;:_J/_ Wﬁsﬁrﬁ%;l,g’;';.u:djgxp 2
_ application software? |
(A) Menubar ¥  (B) Toolbar Y (C) Statusbar A% (D) Scrolibar sk
3. How many Possible solutions are there for a problem? ?;,,__r:‘c)ﬂd’i({.,l‘;f‘uﬁ 3
(A) One i (B) Two (C) Three (D) Multiple ("
4. BASICisa____ language: a:.,f:.»@__..g.@ 4
(A) High level (z—»Zsi (B) Lowlevel Jz—n& (C) Assembly (&1 (D) Machine ¢~
‘5. Which of the following operators has the highest precedence? ?ﬁ:.,t'aﬁ.:,-f u’-?}uy:,.__fﬁ.;fuf;uﬂij@: 5
{ - (A) A (B) * ' (C) + 0) =
6. When a floating-point value is converted to an integer the LS S b AU Py If&:&i;_ﬁﬁ_ﬂ.,ﬁa 6
. fractional part:
(A) Truncated (% /7 (B) Rounded off /Lt us)
(C) May be truncated br rounded off q;:‘;‘_:fuf&,td’:a_ﬁ:d"ﬁgbﬂﬂ“ﬂ 3/ f’
(D) Conversion is impossible %Jdg&*ﬁ
7. Which one of the following is a multiple branching statement? ?.‘;.._*.J:’—‘-’*’ Lf E'JI/,?’!\_EIAJLJ’;LJJ_’J@J i d
(A) IF...ELSE (B) GOTO
(C) ON...GOTO (D) ON ERROR GOTO line_number
8. TAN(x)= | . //TAN(X) .8
(A) SIN(X)/COT(x) (B) COT(x) (C) COS(X)/SIN(x) (D) SIN(x)/COS(x)
9. In two dimension array when dimension is not mentioned the array uLJ..:.._L,fL_zf;ﬂL}'f dﬁyﬁdr_;lﬁ";} 9
should not have more than____elements: :u@a’..::uf&;éi
. (A) 10 (B) 100 () 110 (D) 121
" 10. Which one of the following is not a valid subscript? See e Fraonfe S5t 10
(A) NUM(10) ®) A2) (C) B(4) (D) A(-2)
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S.8.C - (Part-II) -A-2019

Roll No. H../J;Jﬁzf:g;

Marks: 40

Note: Answer any two questions from the following.

Computel‘ Science (Essay Type)

Section -1 2x12=24

2- Write short answers of any four parts from the following.

i. What is RUN-TIME error?

ii. Define Desk checking.

iii. Write two disadvantages of Flowchart.
iv. Which symbol is used for the process?
v. How many operator of Basic are there?

vi. What is RENUM command?

3- Write short answers of any four parts from the following.

i. What is meant by control structure?
ii. Write the purpose and syntax of GOTO statement.
iii. Define Word Processing.
iv. Write two characteristics of MS word.
v. What is the use of Ctri+y?

vi. Distinguish between cut and copy.

4- Write short answers of any four parts from the following.

i. Define one-Dimentional Array.
i. What is meant by Manipulation of array?
iii. What is user-defined function?
iv. Differentiate between Data File and Program File.
v. Define SCREEN statement.

vi. What is medium Resolution Graphic Mode?
Section -II

5. Define variables and describe types of variable.

6. What is Loop?Explain While....Wend loop with program example.

- 7. Write a note on Subroutines in GW-BASIC.

50-010-A----

(For all sessions)
Group-I-.._.;sf

Time: 1:45 Hours &% 1:45:=%

2x4=8

2x4=8

2x4=8

8x2=16
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e S.S.C-(Part-II)-A-2019

Roll No.___ e SosP (FOI" all sessions) - PaperCode | 7 | 8 | 3 4
Group-II—a.;sf
7 . oS ‘y‘/
Computer Science (Objective Type) &) J s
*Marks: 10 Time: 15 Minutes &215:=3 104

,-?d:wu_;@ (012 i Wiz &2 & D1l C B AR L iy g‘ffd Kdlﬁﬁf’éfd::.«yﬁﬁawr(ﬁ:é)
) ' I e L SBL I A 3 A UsHED L CBeA sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
guestion with Marker or pen ink on the answer sheet provided.

1.1. On color monitor types of screen modes are: :pgru“ldjiirscreen{,ijfff 19
(A 2 (B) 3 (C) 4 (D) 5
2. Short key to open existing file is: Z%GﬂJW'J&J@#@LﬂJEﬁE# 2
(A) Ctri+0 (B) Alt+O (C) F1 (D) Shift+O
3. Which of the following is problem solving activity? n;_df.,gﬁ_.prﬁv}f 3
(A) Programming &Ly, (B) Procedure %y (C) Bug L (D) Code 3
4. How many types of error are there in GW-BASIC? ?ujaﬁrﬁldy&_ﬂdGW-BASIC 4
(A) 1 (B) 2 (C) 3 (D) 4
5.’ How many Logical operator available in GW BASIC? Tpglﬁﬁ.{fﬁ)ifuf GW-BASIC .5
i (A) 2 (B) 3 | (C) 4 ) (D) ’5
6. Key used to save a file in GW-BASIC is: e 0P feS__ AGW-BASIC 6
. " (A) F1 (B) F2 (C) F3 (D) F4
7. ____is Loop statement: :ri;.c.i}?.,__.rﬂ_ e
(A) If-Then (B) For-Next (C). Loop (D) If-Then else
8. In the statement List(4) the value 4 indicates: o :.*‘;.J/gr;lﬂzlﬁ&tiﬁ List(4):a}}?..£’! .8
(A) Size of array LK/l (B) Array element c)’:ﬁa.;f |
(C) Index (D) Variable
9. The statement DIM LIST(15) will reserve how many memory locations: ?Jz_u-';:%‘" JoS DIM LIST(1 5)._*..'»:'5’ ..._G .9
(A) 10 (B) 156 (C) 30 (D) 32
10. The output of SQR(81) is: | ‘e 12§ SQR(81) .10
(A) 3 B) 9 (C) 27 (D) 81
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S5.8.C - (Part-1I) -A-2019
Roll No. o S (For all sessions)

Group—ll-.,;..-.s/(

Computer Science (essay ype) (ZEn U"' L/ r'{

Marks: 40 Time: 1:45 Hours &£ 1:45:=% 40 : /7
Section -1 2x12=24 d.'i‘i.-'b
2. Write short answers of any four parts from the following.  2x4=8 ..éﬁzrfuLfiﬁ;Lplylgb;Jfawdjax: -2
i Differentiate between runtime error and logical error. -qubu}u" uxl‘f"),uuflr’ bets i
A - ji. Define flowchart. ..Jf_.nr/’Jh.ul.o;E i
iii. What is analyze a Problem? ' sl b/ £ 84 i
iv. What is debugging? eup Ll SESS v
v. Explain the term loading a program. ?g.;yl_fc_.i_/@:’rff:.; v
vi. What is difference between CLS and CLEAR command? S J /Ut HS CLSHICLEAR vi
3. Write short answers of any four parts from the following.  2x4=8 _a_,@:*faymﬁ'f&izul{a,d;’;utd_mu -3
i. Define Control structure. -_L,j/...ég /TJ/ }d;}f |
Jii. Explain On-error GOTO statement. _a_i(:.au;J On-error GOTO statement .ii
iii. Explain Screen Layout of MS-Word. 4§;=-L3:JH§TA_J;¢J MS-Word iii
iv. How to save document in MS-Word? ' ?Ltbbrbffcflfufﬂ/lju’ MS-Word .iv
v. Explain Stétus bar in MS-Word. JJ&;&LJ’ JeMS-Word .v
vi. Describe the methods to edit document in MS-Word. _2._5::)93‘:. /I’Z.;’_.f....-r.-b_,l...w‘:( 3UAMS-Word .vi

4- Write short answers of any four parts from the following.  2x4=8 -é_éf'@mﬁ?&fizbgadf:..gﬁd_ibu -4

i. Define Array. ,%@f.ny;JI N
) i, Describe the use of subscript variable in array. _afi;bdb?lgdﬁldx:wf#u‘a.ﬁ i
i. What is difference between sequential and random files? f*.;—._u/u’u*)urmss)w*w i
iv. Define built in function. ) .:?/...n!/’d’uﬁ whed v
v. Write names of graphic modes in GW Basic. ‘ cﬁ?’tcﬁmf._ﬁ' I);u" GW-BASIC v
vi. Write purpose and syntax of LINE statement. ¢{ 549 o JIME’M LINE .vi
Section -1I r‘»,.ﬂ
Note: Answer any two questions from the following. 8x2=16 AL L / el L....-!lh:;&fc—gﬂd’ SOV R )
5. Define and explain constant. .,L,‘J_’/:ﬁ{.-?’:;:f_éj/"jJJ:.&ﬁg 5
_ j i i
8. What is selection structure?Write its two types. _u-:.’grul_u.uﬁ?:i;.slf‘l_fcﬂﬁ': jfu’"w .6
7. Write notes on the following. ' -u:"ﬁ..*.f:‘.;d_,j&u B 4
* ; G i - . : )ﬂ’EfJ’hﬂ i t-@ﬁ J".J’ y
(i) Writing to a file. (i) Closing a file. bR e (ii) L L 6L (i)
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